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K
I-I il—l :
Ct2|:

R
HASE SXX
NECE=F

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

01 AtR2telbl

Oxtg=A 24

OXEIISAIAE RAl2el
|

[==)
O=|zdg+sA AEgedst

4,040

720
2,200
1,120

4,500

R RI3 A

Mo

=

5,555,235
4,990,712
222,209
333,314

4,885,541

669,694

hoH

=

2,000
1,800

120

2,000

01 Ar2eltl
OX&Z2ALY =&

o

=

2,000
2,000
1,800

120

2,000

206 M=4|

o

=

10,000
9,000
400
600

10,000

01 =4l
OXEZ22AY =& M=

mhoH

=

10,000
10,000
9,000
400
600

10,000

hoH

=

621,000
558,900
24,840
37,260

621,000

Mo

=

621,000
621,000
558,900
24,840
37,260

621,000

307 212t01™

Mo

=

4,922,235
4,430,012
196,889
295,334

4,252,541

669,694

Mo

4,922,235
4,922,235
4,430,012

196,889

4,252,541

669,694




2A:

E M

SKAEE L

NASE SXNXE

e sl s (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 295,334
INEPN = Rull= fenges 828,336 807,288 21,048
= 579,838
Al 248,498
307 212+01& 828,336 807,288 21,048
= 579,838
Al 248,498
10 Al SXAEEHE2EHI2x 828,336 807,288 21,048
OXS T2 22 L SIYIISSE At
cll2tel 828,336
= 579,838
Al 248,498
XA e 2D (At 2el) 47,620 31,476 16,144
= 33,331
Al 14,289
307 212+01& 47,620 31,476 16,144
= 33,331
Al 14,289
10 Al2IS XA EEE 22X 47,620 31,476 16, 144
OXtgred Xtel At Z0 AL Atedl2tel] 47,620
= 33,331
Al 14,289
NATt2dE 2 (= Algi2el) 19,880 0 19,880
=S 5,967
Al 13,913
307 21201 & 19,880 0 19,880
== 5,967
Al 13,913
10 Al2ISTIAIEEE2HIEX 19,880 0 19,880
OXNSA2HHE HO0AF SHI Atell2eldl 19,880
& 5,967
Al 13,913
XA HE2E(SEE) 30,240 29,160 1,080
= 9,072
Al 21,168
301 EetE2 N = 30,240 29,160 1,080
=S 9,072
Al 21,168
03 ARSI 2H A =TS (XL THH) 30,240 29,160 1,080
OXS e SAHLY SE+E 30,240
[ 9,072
Al 21,168
NSX2EHE w=Hl X 6,000 6,000 0




2A:

SINESES N}

M MASE SAAE
=R AHE=X s (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,260
Al 4,740
307 lztol & 6,000 6,000 0
= 1,260
Al 4,740
11 AMEISXAIEEXS 6,000 6,000 0
OXS T2 HEe wsll X 6,000
= 1,260
Al 4,740
2ESHJ= ==X B3R (&) 1,332,933 1,201,568 131,365
= 1,199,640
Al 133,293
307 212+01& 1,332,933 1,201,568 131,365
= 1,199,640
Al 133,293
05 2IMRIE S 1,332,933 1,201,568 131,365
O3l M= X 158,026
= 142,224
Al 16,802
Oslgy =2 K& 97,370
= 87,633
Al 9,737
OFEUL (Rtat2l0lsH, =) X2 1,077,537
= 969,783
Al 107,754
ArE3XEs N2 21,602 0 21,602
= 19,442
S 864
Al 1,296
301 EtE NS 21,602 0 21,602
= 19,442
S 864
Al 1,296
01 AR 2EHSHS(RNEXRTH) 21,602 0 21,602
OadExE=s N 21,602
= 19,442
=S 864
Al 1,296
Nass dgotd X2 9,281,016 8,743,846 537,170
= 2,310,424
= 267,454
= 367,004
Al 6,336,134




KA =X K& (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
KAt =X X2 5,473,717 4,927,989 545,728
= 10,000
== 43,924
Al 5,419,793
SEAI =2 2 732,760 43,410 689,350
201 Ler23 | 13,520 16,900 23,380
01 At2t2ltl 13,520 16,900 A3,380
OXNE=A ge=d 13,520
202 04l 3,600 4,500 A900
01 =LHA LI 3,600 4,500 A900
OXNg =il g2 3,600
307 @120l & 715,640 22,010 693,630
10 AlISXAZEHE 22X 715,640 22,010 693,630
OZ A ESE At S 2 28 692,200
OFaas4a & ol &H 2 23,440
S AtEIS X2 X 1,017,370 1,594,719 A577,349
= 33,714
Al 983,656
301 EtE N = 44,280 700,427 AB56, 147
= 13,284
Al 30,996
03 A2 H A0S (XILTHH) 44,280 700,427 AB5%6, 147
OSSN 2 SAHL SE= 44,280
=S 13,284
Al 30,99
307 212+01& 951,290 894,292 56,998
< 13,890
Al 937,400
05 2ItRIE = 855,000 822,882 32,118
OLt2Setal=si2 28| 855,000
11 AMEISXAIEEXS 96,290 71,410 24,880
OJI=FEHIAYE K& 39,560
= 9,890
Al 29,670
OSTAEEHIAY X 36,730
OAtgl =X 2 Xg=X22 08 20,000
= 4,000
Al 16,000
402 I+ X=01 & 21,800 0 21,800
= 6,540
Al 15,260
02 RIENSASEEZ(0IETHR) 21,800 0 21,800




2A: SXEA
B HASE MBOIE K@
cel: XAt =X K& (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OAISIEX 2 JIsEZ AL 21,800
& 6,540
Al 15,260
KA EHE AN S 75,820 76,300 A480
T 210
Al 75,610
307 2Iz2+0l™ 75,820 76,300 A480
= 210
Al 75,610
03 QN HE2GHIE X 75,820 76,300 A480
OZLAXIGAZ EEE M 22 K& 75,120
O AMAKNSAMSIEEE AN IR WS 700
& 210
Al 490
AR =XE2lg XIH 22,200 22,000 200
307 212+01™ 22,200 22,000 200
11 Al =SXAMEES 22,200 22,000 200
O &AM SXIE 2lg] At XIZ 22,200
S| =XeEs) 43,300 42,560 740
307 QIZ2t01 A 43,300 42,560 740
04 QUIZHHAIAIRE E X 43,300 42,560 740
O 4t s|L =X S 43,300
MNEELME XS (HEAIY) 3,114,027 2,677,000 437,027
301 LPBNZ 3,114,027 2,677,000 437,027
10 Al =SRLABAZS 3,114,027 2,677,000 437,027
OAMz=2H T K& 3,114,027
—“ARERRE =2 2,940,000
- A2S2E WS 129,100
- Al =E22@ Il=H| 44,927
MEIZX A SR 2 282,240 297,000 A14,760
301 LPENSZ 282,240 297,000 A14,760
10 Al =SRLABAZS 282,240 297,000 A14,760
OAMIIEXZ0 A2 SRRISAIH| 282,240
ARISXAIE SALA SX1=Y K& 106,000 104,000 2,000
301 LB F 106,000 104,000 2,000
03 A B & E 262 (RIY M) 106,000 104,000 2,000
OAMII=XAIE AR XY XI& 106,000
MNSISXAIE SAHR 2208 K& 31,800 30,000 1,800
301 LetEHZ 31,800 30,000 1,800
03 A3 2 & 262 (XY THA) 31,800 30,000 1,800
OAMII=XAIE SAX Ex0SH X3 31,800
MIISXIAE SAXE SE2st 8,200 10,000 21,800




2A:

X XH -
o=

el XFAeI =X X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 6,400 8,000 21,600
03 Ar=EHI 6,400 8,000 21,600
OAI2ISXIAIE SAHRG Szt 6,400
301 LEtE N = 1,800 2,000 A200
11 #AIAHIXIZ S 1,800 2,000 A200
OAZISXIAIE SAEL Szt 1,800
USAE & 22IHA 2= 20,000 15,000 5,000
= 10,000
= 6,000
Al 4,000
201 er=23y| 15,000 7,500 7,500
= 7,500
= 4,500
Al 3,000
2 s5=34l 15,000 7,500 7,500
OAlUlOIBY HIOI2(A2H3E) X2 15,000
= 7,500
= 4,500
Al 3,000
307 elztol & 5,000 0 5,000
= 2,500
< 1,500
Al 1,000
11 AMEISXAEEE 5,000 0 5,000
OAtzlZAged 2208 K& 5,000
= 2,500
< 1,500
Al 1,000
KA SE AL 20,000 0 20,000
= 4,000
Al 16,000
308 AHXIEMSOIE 20,000 0 20,000
= 4,000
Al 16,000
07 HXHH 2252 20,000 0 20,000
OXNgEH2t fFE= 20,000
s 4,000
Al 16,000
INEAE NG 3,807,299 3,815,857 28,558
= 2,300,424
[ 267,454
= 323,080
Al 916,341




2A: SXEA

B HASE MBOIE K@

&2l MASSXE (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
218=X 2,875,530 2,938,000 A6B2,470

= 2,300,424
T 287,553
Al 287,553
301 LetEHZ 2,875,530 2,938,000 A62,470
= 2,300,424
T 287,553
Al 287,553
01 AISIBE X LGS (2 LETME) 2,875,530 2,938,000 A6B2,470
O21==XXI&| 2,875,530
2 2,300,424
& 287,553
Al 287,553
A= 2Z3=X A3 16,000 0 16,000
T 8,000
Al 8,000
301 LetEHZ 16,000 0 16,000
= 8,000
Al 8,000
P2 A BEHHZ(HAHS, NYHA) 16,000 0 16,000
ON=g 2=5K K& 16,000
& 8,000
Al 8,000
ZArE 2125 XIKE ALY 120,000 100,000 20,000
301 LPBNF 120,000 100,000 20,000
02 ASIBEEHS(FHLHS, NYME) 120,000 100,000 20,000
Ozt 2I5=X KA 120,000
MASES F04s oty I| 200,000 200,000 0
301 LetEHZ 200,000 200,000
2 A BEHHZ(HAHS, NYHA) 200,000 200,000
OMASES =DM otEXRA 200,000
A2 SeAdI2e] XI& 18,900 18,900 0
= 9,450
Al 9,450
201 LBt2AY| 8,250 8,250 0
= 4,125
Al 4,125
01 A=R2teld| 8,250 8,250 0
O=XAXIO =2 L AlZFAR Z2lAL
S 2S5 8,250
= 4,125
Al 4,125
202 0idl 1,200 1,200 0




A SAE M
B HASE MBOIE K@
=@ MASSIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 600
Al 600
01 2LHoIH 1,200 1,200 0
OAtdl2elgd e =& 1,200
= 600
Al 600
301 LEetE2 N = 9,450 9,450 0
[ 4,725
Al 4,725
01 Al 2E AL S(FRDEXM) 9,450 9,450 0
OAlZ 7 Atell2tel e At XI& 9,450
[ 4,725
Al 4,725
SEAtel2telA 2124H] X~ 209,888 184,39% 25,493
= 71,544
Al 138,344
101 @124H| 181,520 161,635 19,885
= 57,360
Al 124,160
03 SRA(RIH )22+ 181,520 161,635 19,885
OSE At 2l At 2124 114,720
[ 57,360
Al 57,360
OSEAtdZRIAL RIS S(FIHME) 66,800
202 04l 5,760 5,760 0
= 2,880
Al 2,880
01 =LHOHI 5,760 5,760 0
OAtefl2te] ge=a 5,760
[ 2,880
Al 2,880
WM HsEE=S 22,608 17,000 5,608
= 11,304
Al 11,304
4 BRA(RIHA)22N BEERES S 22,608 17,000 5,608
OSEAdZCIA ES2RE= S 22,608
= 11,304
Al 11,304
SE XA 22,520 26,900 N\4,380
201 er=23y| 12,920 14,900 21,980
01 AtR2t2|HI 7,920 9,900 1,980
OSE XA R4 7,920




A SAE M
B HASE MBOIE K@
=@ MASSIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 5,000 5,000 0
OZXAIRE S22 1,460
OZAXE 7= 2,100
OSEXAERE SUHE = 1,440
202 04| 9,600 12,000 A2,400
01 =LHOLI 9,600 12,000 2,400
OSSXA H2FX 9,600
SIY=RIXE 15,040 20,000 A4,960
201 er23 | 9,040 11,300 2,260
01 At2teltl 9,040 11,300 A2,260
Osl=ANE H2FA 9,040
202 04dl 6,000 8,700 2,700
01 2L AL 6,000 8,700 A2,700
O3 Z=AXE gFFN 6,000
NASSSY WsHIXE 7,527 4,940 2,587
& 7,527
101 @124H| 6,8% 4,520 2,376
= 6.89%
M ORINZZ2NSE S 6,8% 4,520 2,376
ONASESM DY ABES 2T 01
] 6,8%
= 6,8%
201 2egh=3| 631 420 21
S 631
01 AtR2te|HI 631 420 21
OMNASESY WsHl MEEs =M 631
== 631
Sgatel 19,444 26,752 AT7,308
201 er2 3| 10,944 13,680 N2, 736
01 AtR2t2|HI 10,944 13,680 N2,736
OSgael ge=d 10,944
202 04| 8,500 13,072 N4,572
01 =LHOLI 8,500 13,072 N4,572
Oosgael g 8,500
o= 20,000 0 20,000
= 20,000
201 fer=3| 5,000 0 5,000
== 5,000
01 At2teltl 5,000 0 5,000
OO0l 715 Lit+=ZH| 5,000
= 5,000
302 01 Mol 2 &= 15,000 0 15,000
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M SXE MY

=4
FH: NASE =X
=

Chel: 20D |ZMESH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 65,531,278
[ 185,612
= 5,136,528
Al 2,497,725
JlzdEg=g 14,880 17,600 N2, 720
201 Let=23 | 6.400 8,000 A1,600
01 AtR2te|Hl 6,400 8,000 1,600
OJlzdg=d 4,800
Og3E31 ==2(RHLX AldIXeIS1) 1,600
202 04| 4,480 5,600 A1,120
01 =LHOLI 4,480 5,600 AT1,120
OJIEME 22X 4,480
203 HR=H] 4,000 4,000
03 A=A 2= 4,000 4,000
O=2AH & SAX2dy =d 4,000
PIES- s, 112,000 112,000
301 EtE NS 112,000 112,000
02 NBI2HHSFS(HAAS, XNLHE) 112,000 112,000
ONASE dY2E= A2 112,000
HAHASNH 72,412,680 64,643,435 7,769,245
= 65,171,503
= 5,008,8%
Al 2,172,283
301 LEetE2 N = 72,412,680 64,643,435 7,769,245
= 65,171,503
= 5,068,8%
Al 2,172,283
01 Al EE A2 (2RNEXMR) 72,412,680 64,643,435 7,769,245
O=tlzdg=2 A HAH20 72,412,680
= 65,171,503
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= 30,061,431
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== 21,798
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01 AtR2t2|HI 106,280 106,300 A0
OLIg eI =& SUE| 106,280
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= 1,250
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OLISXAE =2 4HS0 1,430,000
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= 10,500
Al 24,500
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[ 16,506
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S 528,094
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Al 226,326
COIQUANLHE(IISEY) A 320,540 357,110 36,570
= 158,565




FA BZHO0HRIL
Hm: Lol =X =
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 113,382
Al 48,593
402 QIF X201 & 320,540 357,110 A36,570
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=S 10,000
02 QI X2 AL EE(0IETHE) 10,000 26,000 216,000
O82AZ3 A5 &)| & Y 23 At 10,000
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307 lztol & 1,065,070 1,068,830 6,240
= 213,014
Al 852,056
10 Al SXAAEEHE2EHI2x 1,065,070 1,058,830 6,240
OZ=zd 24| 1,059,840
= 211,968
Al 847,872
otls=sdzg & 5,230
< 1,046
Al 4,184
308 XXM SOIH 16,775 16,000 775
18 SIS0t 4 A AS A 16,775 16,000 775
OZzd It EAr= 16,775
402 2IZtA=01d 286,000 200,000 86,000
01 QI X2 AL E R (KM TH) 286,000 200,000 86,000
OZzd &J 7 286,000
229 Wited & 2=H| X 1,539,236 1,404,260 134,976
= 731,997
= 146,400
Al 660,839
301 EetE2 N = 241,426 218,340 23,086
= 83,002
= 16,619
Al 141,715
01 Al EE A ZS(2DEXMR) 166, 184 113,402 52,782
OZ=HROISTE B2E A=HINEAS 166, 184
= 83,002
< 16,619
Al 66,473
02 ALRI2E A6 (FHAAHS, NSWE) 75,242 104,938 N29,696
OZ2ROISE Z2Y LIHIXAM(F
IFREAITHE 75,242
307 @12t01 & 1,297,810 1,185,920 111,890
= 648,905
= 129,781
Al 519,124
10 Al SXAZEHE 22X 1,297,810 1,185,920 111,890
OB=HISE B2 s&J| L2l A
At 1,114,000
= 557,000
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= 18,381
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= 26,259,905
[ 177,766
= 5,535,061
Al 14,659,107
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= 26,259,905
= 177,766
== 5,535,061
Al 14,659,107
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201 =3 44,504 47,380 A2,876
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ONZ+-s2ARe =& S 4,704
OZojel gsXa g2=a 2,800
OZA=X 2= 23 4,000
ONHIAZSE RAE2+= & EHIRX 16,000
02 35284l 17,000 17,000 0
OXSI| X N4 S =2l 3,000
OloT ClHIOIA SRS S 3,000
OHMISES RS 11,000
202 04| 2,304 2,880 A576
01 2L AL 2,304 2,880 Ab76
O SXNER =8 2,304
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= 6,184,117
=S 795,101
Al 1,855,235
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= 6,184,117
= 795,101
Al 1,855,235
01 Al EE AT S (2 RDEEMRA) 8,834,453 8,458,752 375,701
oFelds X3 8,834,453
= 6,184,117
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Al 1,855,235
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== 223,730
Al 335,595

301 2eEN= 1,864,415 1,769,505 94,910
= 1,305,090
=S 223,730
Al 335,595

01 Al EEHS(FRDEXMH) 1,864,415 1,769,505 94,910
OF=g XAOIx) 1,864,415
= 1,305,090
= 223,730
Al 335,59

= (X9 8) K= 1,089,216 1,055,497 33,719
= 762,451
= 130,706
Al 196,059

301 EtE2 NS 1,089,216 1,095,497 33,719
= 762,451
= 130,706
Al 196,059

01 Al EE A ZS(2REXMR) 1,089,216 1,055,497 33,719
OZ 0=+ X (XHA) 1,089,216
= 762,451
< 130,706
Al 196,059

MASHOHR! &EHl & A X 10,342 7,964 2,378
= 5171
< 2,068
Al 3,103

301 EtE NS 10,342 7,964 2,378
= 517
== 2,068
Al 3,103

01 Al 2E A S(SREXME) 10,342 7,964 2,378
OFe S| X 10,342
= 5,171
=S 2,068
Al 3,103

Zoeleizdl K& 661,391 324,182 337,209
= 529,113
S 92,594
Al 39,684




2A:

200! 0t

. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 661,391 324,182 337,209
= 529,113
== 92,594
Al 39,684
13 S I2S0He 4 A AS A 661,391 324,182 337,209
O&ofel 2=Hl X 661,391
= 529,113
=S 92,594
Al 39,684
o 228 A 28,080 0 28,080
< 8,424
Al 19,65
301 EtE NS 28,080 0 28,080
= 8,424
Al 19,656
02 ALRI2EH LGS (FHAAHS, NLWE) 28,080 0 28,080
O a=22=8 X 28,080
= 8,424
Al 19,656
AZEOQ BXtu=H XA 9,166 0 9,166
< 2,750
Al 6,416
307 lztol & 9,166 0 9,166
S 2,750
Al 6.416
11 AMEISXAEEES 9,166 0 9,166
OAIZ &l BXtuw=Hl K& 9,166
= 2,750
Al 6,416
ZOHRIEFXIAIZ 209,610 243,405 A33,79%5
307 @120l & 196,110 193,325 2,785
03 YIHHEE 22X 85,260 82,368 2,892
OFHIEHM =S 85,260
11 AMEISXAEEES 110,850 110,957 A107
O&=sZ JsZII03 #IIXIA 3,000
OZoHe!l HEwIH| 27,250
OZofelel & AL X2 29,600
OZONIEM SHEZet & A XA 35,700
OXIMEMe! S NFAIS 3,320
Ol 2I(1tHal 11,980
401 AlEHIZ 2 0HbI 13,500 13,500
01 Al&H| 13,500 13,500




2A:
PSER
o e

=aak

200! 0t
el =X s8
el =Xsd

Ofl &F2H

HMEE
Ofl &k2h

13,500

hoH

=

1,

744,294
872,147
348,859
523,288

1,715,310

28,984

101 e124d|

SR

=

—

, 741,294

870,647
348,259
522,388

1,712,310

28,984

04 JIZtHN2Z2 S8+
o

OFofel eetd 24X

1

el

Mo

=

741,294
, 741,294

870,647
348,259
522,388

1,712,310

28,984

Mo

=

3,000
1,500
600
900

3,000

01 AtS2t2ltl

OFojel etd 2Xie

Mho

=

3,000
3,000
1,500
600
900

3,000

ZOHOIL X2 KIS (AIZEMIL RF2 )

Mho

=

421,040
210,520

84,208
126,312

369,660

51,380

101 e124d|

hoH

=

420,040
210,020

84,008
126,012

368,660

51,380

04 JIZtNZ22 NS 2+
OZO0Hel AIZFAI & Ate

hoH

=

420,040
420,040
210,020

84,008
126,012

368,660

51,380

hoH

1,000
500
200

1,000

01 At2teltl
OZOHel AIFAI & Xte

H




2A:
X XH -
o e

=aak

200! 0t
el =X s8
el =Xsd

SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 200
Al 300

o X e X (SXLRel) 1,025,568 898,260 127,308
= 512,784
< 205,114
Al 307,670

307 lztol & 1,025,568 898,260 127,308
= 512,784
== 205,114
Al 307,670

11 AMRISXAEEES 1,025,568 898,260 127,308
OFoHe!l =SXILXRtel K& 1,025,568
= 512,784
=S 205,114
Al 307,670

AZHEOH QI OHOFAMIFA A 227,051 111,900 115,151
= 181,641
= 18,164
Al 27,246

307 @I2t01 & 227,051 111,900 115,151
= 181,641
= 18,164
Al 27,246

1 AMEISXAIEEXS 227,051 111,900 115,151
OAIZZ 0! OHOMAF THAALE 227,051
= 181,641
= 18,164
Al 27,246

LETHALAZS AL BEAS 189,490 186,600 2,890
= 94,745
= 37,898
Al 56,847

307 elztol & 189,490 186,600 2,890
= 94,745
[ 37,898
Al 56,847

11 AMEISXIAEEES 189,490 186,600 2,890
O2LHM QALESA XA 189,490
= 94,745
== 37,898
Al 56,847

ZSSHHY SSLXel At 200,050 95,921 104,129
= 40,010




2A:

200! 0t

. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 160,040
307 gl2tol & 200,080 95,921 104,129
=S 40,010
Al 160,040
11 ARRIS XA E X 200,050 95,921 104,129
OzISSHM2 Ss2Xel At 200,050
< 40,010
Al 160,040
HEZ0H SLHISXIA 7,200 8,400 21,200
= 5,040
S 648
Al 1,512
301 2P EN= 7,200 8,400 1,200
= 5,040
=S 648
Al 1,512
01 ARRIE2HHSHS(SNERTHE) 7,200 8,400 A 1,200
OFeHs £4Xd= X2 7,200
= 5,040
= 648
Al 1,512
gEEMH! LA ELHIEXE 2,400 2,400 0
S 720
Al 1,680
301 2eEN= 2,400 2,400 0
S 720
Al 1,680
02 ARSI 2EH 2GS (FHAAHS, NLWE) 2,400 2,400 0
OEddel A S4tHIS XN&H 2,400
= 720
Al 1,680
ZOHQ! S4HH] XIR (REAI) 9,000 9,000 0
301 EtE NS 9,000 9,000
02 ARI2HHSFS(HAAS, NLHE) 9,000 9,000
OFOHRIIIE SMXIEZ XA (KA 9,000
Zoie! 2sXd S0 16,433,545 16,315,718 117,827
= 11,503,481
=S 1,479,019
Al 3,451,045
301 Eet2 NS 16,433,545 16,315,718 117,827
= 11,503,481
= 1,479,019
Al 3,451,045




2A:
PSR
ool

200! 0t
el =X s
el =Xsd

SA - o(3) - MSA -

E
S=

Ofl &F2H

HMEE
Ofl &k2h

hoH

=

16,433,545
16,433,545
11,503,481
1,479,019
3,451,045

16,315,718

SR

=

271,807
190,265
24,462
57,080

408, 143

A 136,336

Mo

=

271,807
190,265
24,462
57,080

408, 143

A 136,336

Mho

271,807
271,807
190,265
24,462
57,080

408, 143

136,336

H

Al

815,139
244,542
570,597

725,030

90,109

H

Al

815,139
244,542
570,597

725,030

90,109

02 MBI 2HHSFHS(HAANS, XLHE)

H

Al

815,139
815,139
244,542
570,597

725,030

52,000

52,000

52,000

52,000

(5ot =
cldl XI&

, NEHE)

1 nu

Cpse

52,000
52,000

52,000

Mo

=

22,289
17,831
1,783
2,675

22,800

2511

Mo

22,289
17,831
1,783
2,675

22,800

A5

W

22,289
22,289
17,831

22,800

2511
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2A:

X XH -
o=

200! 0t
el =X s8

s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 118,125

307 gl2tol & 157,500 117,678 39,822
=S 39,375
Al 118,125

11 ARRIS XA E X 157,500 117,678 39,822
OOl EoAlE XAHH = 157,500
< 39,375
Al 118,125

ZOHRIAFAIE 2 K& 4,934,799 4,807,328 127,471
= 3,433,367
< 303,256
Al 1,198,176

301 2P EN= 30,000 30,000 0
& 9,000
Al 21,000

02 ARSI 2EH 2GS (FHAAS, NLWE) 30,000 30,000 0
OFOMHANFAIL EIATH XES K3 30,000
= 9,000
Al 21,000

307 @20l & 4,904,799 4,777,328 127,471
= 3,433,367
= 294,256
Al 1,177,176

10 Al SXAAEEHE 22X 4,904,799 4,777,328 127,471
OZOHAHNFAIE 2HI(el) 4,904,799
= 3,433,367
= 294,256
Al 1,177,176

HOHAAFAIE 2 RS (XIXHA) 1,520 910 610
= 4%
Al 1,064

307 @201 & 1,520 910 610
s 456
Al 1,064

02 LB MAHEE 1,520 910 610
OZOHHFAIE CCTVEIEH] IR 1,520
< 456
Al 1,064

ZOHIX S MEXAME 28 X2 210,000 176,345 33,655
= 63,000
Al 147,000

307 el2to| & 210,000 176,345 33,65
= 63,000




2A:

200! 0t

. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 147,000
11 AMEISXAEEXS 210,000 176,345 33,655
OZAAE L& 2HEH 28| 210,000
s 63,000
Al 147,000
I SSHEAL 22| 486,182 460,890 25,292
& 48,618
Al 437,564
307 glztol & 486,182 460,890 25,292
= 48,618
Al 437,564
10 Al SAAEEHE 22X 486,182 460,890 25,292
OHMl=sdEAd 23| 486,182
= 48,618
Al 437,564
o se=A2 2| 1,953,000 1,929,464 23,536
[ 390,600
Al 1,562,400
307 elztol & 1,953,000 1,877,000 76,000
= 390,600
Al 1,562,400
10 Al SXAEEHE 22X 1,953,000 1,877,000 76,000
O SE=A2 23| 1,953,000
= 390,600
Al 1,562,400
o F2ES Al 23] 1,210,640 1,137,500 73,140
== 241,560
Al 969,080
307 212+01& 1,210,640 1,137,500 73,140
[ 241,560
Al 969,080
10 AlRISTIAIEEE 22X 1,207,800 1,135,300 72,500
OZRFA2SAIE 2| 80,000
= 16,000
Al 64,000
OHMHIFUESAIE Q12| 1,080,000
S 216,000
Al 864,000
OH0HQ! oRtE=SAIY 23| 47,800
< 9,560
Al 38,240
11 AMEISXAIEEE 2,840 2,200 640




2A:

X XH -
o=

200! 0t
el =X s8

s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OslYUs2AESHEH XD &MHde &
e 2,840
SO UE0ISXIHHE 23| 328,780 314,000 14,780
= 59,5632
Al 269,248
307 @12t0| & 297,660 314,000 16,340
== 59,532
Al 238,128
10 Al2ISTIAIEEE 22X 297,660 314,000 216,340
Ol H20ISAALEH 2 297,660
< 59,532
Al 238,128
402 2I2F X201 & 31,120 31,120
01 QI X2 AL E A (KEHITH) 31,120 31,120
OZ A ME0ISAZHE HSA 31,120
SO ESHE 23| 307,000 276,000 31,000
== 61,400
Al 245,600
307 212+01& 307,000 276,000 31,000
[ 61,400
Al 245,600
10 AlRISTIAIEEE 22X 307,000 276,000 31,000
O==01S e =gl 307,000
= 61,400
Al 245,600
OB HEAIE 2| 1,038,250 976,005 62,245
= 207,650
Al 830,600
307 @120l & 1,038,250 958,005 80,245
== 207,650
Al 830,600
10 Al2ISTIAEEE 22X 1,038,250 958,005 80,245
OB THEAIE 2| 1,038,250
< 207,650
Al 830,600
JHUSXAIE SA SE€+¢ 292,800 307,000 14,200
= 87,840
Al 204,960
301 EtE2 N = 292,800 307,000 14,200
=S 87,840
Al 204,960
02 NRI2HHSFS(HAAS, NLHE) 292,800 307,000 214,200
OHMLISXAE A S+ 292,800




2A:

X XH -
o=

200! 0t
el =X s8

s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 87,840
Al 204,960
o JIEXZ IBHH 186,666 182,111 4,555
= 56,000
Al 130,666
307 gl2to| & 186,666 182,111 4,555
=S 56,000
Al 130,666
11 ARRIS XA E X 186,666 182,111 4,555
OZIIEXIHAH X 186,666
< 56,000
Al 130,666
S0l B uFHH 211,667 206,604 5,063
= 63,500
Al 148,167
307 el2to| & 211,667 206,604 5,063
= 63,500
Al 148,167
11 AMEISXAIEEXS 211,667 206,604 5,063
OZrBHdWFHE X 211,667
s 63,500
Al 148,167
ZOHRIHFAIE AGIIT 2 31,080 22,790 8,290
307 glztol & 31,080 22,790 8,290
10 AlRISTIAIEEE 22X 31,080 22,790 8,290
OFOLIHFAIE AV (HEE) 29 31,080
ZOHQIMEAIE =2 X MAHS0 340,000 340,000 0
= 306,000
< 23,800
Al 10,200
301 EtE NS 340,000 340,000 0
= 306,000
== 23,800
Al 10,200
01 Al 2E A S(SREEME) 340,000 340,000 0
OHMAANE+SA HHSO 340,000
= 306,000
=S 23,800
Al 10,200
HRIFESAIE DIsES 2,060 8,000 Ab5,940
= 1,030
= 309
Al 721




2A:

X XH -
o=

200! 0t
el =X s8

Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 2,060 8,000 25,940
= 1,030
== 309
Al 721
02 QI XH2AILEE (01X THE) 2,060 8,000 25,940
OHOULIFAESAIE JIsEE 2,060
= 1,030
=S 309
Al 721
S0 XIS At KHEXIE AEAIS 365,532 515,166 159,634
= 177,766
=S 53,330
Al 124,436
307 21201 & 365,532 515,166 159,634
[ 177,766
= 53,330
Al 124,436
1 AMISXAEEXS 365,532 515,166 A159,634
OO0 XIAtal NHE AR AIBA 366,532
[ 177,766
= 53,330
Al 124,436
ZES L2 =28 JHE 2Ue X3 288,007 228,823 59,184
= 144,003
= 43,201
Al 100,803
307 elztol & 288,007 228,823 59,184
= 144,003
< 43,201
Al 100,803
10 Al SXAEEHE2EHI 22X 288,007 228,823 59,184
OzISS LEZM =2t JHE LU X=A 288,007
= 144,003
== 43,201
Al 100,803
ZOHRIAFAIZ 10T, AIHE SSAHY 1,584 0 1,584
= 1,109
== 190
Al 285
307 212+01& 1,584 0 1,584
= 1,109
= 190
Al 285




FA BZHO0HRIL
. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 1,584 0 1,584
OZOAAFAIZ 10T, AIZE SSAHY 1,584
= 1,109
S 190
Al 285
THZZASAHA SANEAL (XLL=E) 50,000 0 50,000
= 50,000
402 2I2FXH=201H 50,000 0 50,000
< 50,000
02 QI X2 AL E R (01X THR) 50,000 0 50,000
OFNZZA =R SZINLAS 50,000
= 50,000
NASE XEE AlelAblA T 11,305,018 10,389,341 915,677
= 3,942,583
= 3,899,215
< 1,372,027
Al 2,091,193
A2l AHIA XT3 11,305,018 10,389,341 915,677
= 3,942,583
[ 3,899,215
= 1,372,027
Al 2,091,193
A2l AHIA 4,720 5,900 21,180
201 er2 3| 1,840 2,300 460
01 AtR2t2|HI 1,840 2,300 A460
OAtglNHIA ERF 1,840
202 04| 2,880 3,600 AT20
01 2LHA b 2,880 3,600 AT20
OAtelABIA ERF 2,880
NEXES MIIMHIA EXAIY (EX)(42) > S& 5,570,309 4,941,691 628,618
2l
= 3,899,215
== 835,547
Al 835,547
201 =3 8,500 8,500 0
= 5,950
= 1,275
Al 1,275
01 At 2|l 8,500 8,500 0
OXEXEEAM2AMHIAEXAIE 23] 2,500
[ 1,780
= 375
Al 375




S ZRE0RID
3 MLS8 QCZS—%* A2l AHI A XI&
St AlRIAHIA X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLad=sHbIA Al 2SI 6,000
= 4,200
== 900
Al 900
202 04l 2,000 2,000 0
= 1,400
== 300
Al 300
01 =LHOLI 2,000 2,000 0
OLad=sHLIA A 23| 2,000
= 1,400
=S 300
Al 300
307 212+01& 5,569,809 4,931,191 628,618
= 3,891,865
=S 833,972
Al 833,972
05 git?(& = 5,529,809 4,931,191 598,618
OXNAXSE A MHIAE XA GIES (K
AAS MEIAS XA 3,688,551
= 2,581,985
= 553,283
Al 563,283
OXAXSE S MHIAE XA OIEHS (OF
ARFE L2 22 ALK R) 818,286
= 572,800
=S 122,743
Al 122,743
OXAXEE AR MEIASE XA GIE S (L
dSSMEIAAE 1,000,000
s 700,000
s 150,000
Al 150,000
OXNAX2E AR MHIAE XA GIES (2
2S2TAAIY) 22,972
2 16,080
== 3,446
Al 3,446
11 AMEISXAEEE 30,000 0 30,000
OXSTHES A M A FH 2RI X2 AHY 30,000
= 21,000
== 4,500
Al 4,500
LEMEAMBIL BIRIXIA 1,454,624 1,389,918 64,706




2A:

X XH -
o=

200! 0t
MNASE XSS MIIAMHIA KA

ABIAEIA XI&

29: (Erel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 1,018,235
=S 130,917
Al 305,472

307 @I2to| & 1,454,624 1,389,918 64,706
= 1,018,235
= 130,917
Al 305,472

05 212t =S 1,454,624 1,389,918 64,706
OZLMEAMEIA BISXXZAE HES 1,454,624
= 1,018,235
= 130,817
Al 305,472

HAOLEXE HIRX XA 25,920 25,920 0
= 18,144
= 2,592
Al 5,184

307 elztol & 25,920 25,920 0
= 18,144
< 2,592
Al 5,184

05 21t =2 25,920 25,920 0
OUNHZELXNH HIRXAEAIE HE= 25,920
= 18,144
== 2,592
Al 5,184

LEHY F2AERNE 20,743 20,743 0
= 14,520
== 1,867
Al 4,3%

307 212+01& 20,743 20,743 0
= 14,520
= 1,867
Al 4,3%

05 glt?(& = 20,743 20,743 0
OgLH R24AEXAAY CHES 20,743
= 14,520
= 1,867
Al 4,3%

22T =S KA 3,388,255 3,170,655 217,600
= 2,303,371
= 325,465
Al 759,419

307 el2to| & 3,388,255 3,170,655 217,600




2A:
PSER
o e

el

200! 0t
MNASE XSS MIIAMHIA KA

ABIAEIA XI&

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

Mo

=

2,303,371
325,465
759,419

FUHESAHHIA AL

R

Mho

3,388,255
3,290,529
2,303,371
296,147
691,011

97,726
29,318
68,408

3,170,655

217,600

hoH

=

512,568
358,798

46,131
107,639

482,285

30,283

307 212t01™

Mo

=

512,568
358,798

46,131
107,639

482,285

30,283

Mo

=

512,568
512,568
358,798

46,131
107,639

482,285

30,283

b
Of
Ol
e
o
0%
=
o
M
=
|J
il
e
o
e
>
0

Mo

=

327,879
229,515
29,508
68,856

352,229

A24,350

307 212+01™

hoH

=

327,879
229,515
29,508
68,856

352,229

N24,350

O
o
O
0l
g
1
03
=
ro
A
=
u
0
o
o
10
=
0

hoH

327,879
327,879
229,515
29,508
68,85

352,229

N24,350

H™
re

bl
Al =
=
o

930,440

1,411,800

481,360

ry

| i
o
ol
03

930,440

1,411,800

481,360

[
=
o

930,440

1,411,800

A481,360

0
rof 0| k0| nx

=

Y| FO| [
Ao
fol
0 | Ja
J

(@]
=

52,500

79,000

N26,500

R
J
N
2d
i
H
paa
on
i
4

52,500

79,000

226,500




od
i’
o
uJ

-

KIO

Hlw

A32,060
7,940

240,000

N300
A300
AB2,000
62,000

HMEE
Ofl &k2h

340,300
60,300

280,000

1,500
1,500
370,000
370,000
76,000
76,000

Ofl &F2H

30,000
22,500
308,240
68,240

4,560

1,440

2,240
60,000

240,000

1,200
1,200
1,200

100,000
20,000
120,000
308,000
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Al 4,870,235
10 Al2ISTIAIEEE 22X 5,729,688 5,649,970 79,718
O0ts=XAE 2 5,729,683
= 859,453
Al 4,870,235
OlSSAIAIE SAHA S85E 229,680 216,000 13,680
= 68,904
Al 160,776
301 EetE NS 229,680 216,000 13,680
== 68,904
Al 160,776




2A: OtsE At
BH: 2% 015 X8
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - BE - 9(3H) - KA - BES Ol &t G o B2
03 AISIE& A =6l = (KL T2 229,680 216,000 13,680
O0ts=XAIE SAL EExE 229,680
= 68,904
Al 160,776
OlS=XIAIE ME0tsXIR 282,072 339,979 A57,907
= 77,122
Al 204,950
301 LEHBNEF 282,072 339,979 A57,907
= 77,122
Al 204,950
02 AISI 2 6IZ(FUAS, RLTHR) 282,072 339,979 A57,907
OO0ts=XIAIE OtsXI&t| 132,072
= 39,622
Al 92,450
OElA0ts NEEES 150,000
= 37,500
Al 112,500
2230l 188 22 1,163,424 1,102,763 60,661
= 465,370
= 349,027
Al 349,027
307 212t01 & 1,163,424 1,102,763 60,661
= 465,370
= 349,027
Al 349,027
10 AlRISXAIEHE 22X 1,163,424 1,102,763 60,661
O3sdaIId(O8E) N 1,163,424
= 465,370
= 349,027
Al 349,027
SSMEIE X 152,527 135,136 17,391
= 45,758
Al 106,769
307 212t01 & 152,527 135,136 17,391
= 45,758
Al 106,769
10 Al SXAEHE2EHIEX 152,527 135,136 17,391
OSSHUEIIESAHAL BEY 17,000
L= 5,100
Al 11,900
OZSHEIE SALL ORI22+2 25,500
= 7,650
Al 17,850
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2A:

I 9% 0lS X
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 45,541
=S 13,662
Al 31,879
11 AMRISXAEEES 168,594 177,800 29,206
OZLAOtSESEED |2 AFZHI 168,594
= 84,297
=S 25,289
Al 59,008
TUAIOISESE 2012 XI# 101,183 103,370 A2,187
< 30,355
Al 70,828
301 EtE NS 26,580 26,640 260
= 7,974
Al 18,606
03 A2 E A0 2 (XL THH) 26,580 26,640 A60
OZMAOISESHEI |2 SAHA SE+E 26,580
= 7,974
Al 18,606
307 21201 & 74,603 76,730 N2, 127
< 22,381
Al 52,222
10 Al SXAEEHE2EHI2x 74,603 70,504 4,099
OZLAOISESEHEI 2 SAL =F 74,603
& 22,381
Al 52,222
A0S IS 249,311 239,410 9,901
) 174,518
& 37,3%
Al 37,397
301 EtE NS 249,311 239,410 9,901
Jl 174,518
< 37,3%
Al 37,397
01 Al 2E AL S(SRNEXME) 249,311 239,410 9,901
Ogots ds+2 XA 211,200
Jl 147,840
=S 31,680
Al 31,680
OZE0HOt ot =LAz 28,011
Jl 19,608
=S 4,201
Al 4,202
oggHs N 8,100
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A OlsER L
Hu: 9% 0ls X
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ooz otssSA Ad 197,100
Jl 49,275
Al 147,825
Ots=24l X (EIIT) 85,500 85,500 0
=S 85,500
301 EtE NS 85,500 85,500 0
= 85,500
02 ANRI2HHSFS(HAAS, NLHE) 85,500 85,500 0
OsIE sANd(nsd SE3IH) 85,500
[ 85,500
Ors=gXa2 11,684,350 13,404,746 A1,720,39%6
= 9,379,480
= 1,152,435
Al 1,152,435
301 LEtE N = 11,684,350 13,404,746 A1,720,3%
= 9,379,480
S 1,152,435
Al 1,152,435
01 AR 2EHSHS(RRNEERTHE) 11,684,350 13,404,746 A1,720,3%
O0ts=+=gAI& 11,684,350
= 9,379,480
[ 1,152,435
Al 1,152,435
22E30ts 25 X& 227,435 196,727 30,708
= 38,770
Al 188,665
201 fer23| 3,400 4,200 2800
01 AtR2t2|HI 3,400 4,200 A800
OAdZEREE 288 3,400
301 Eet2 NS 224,035 192,527 31,508
== 38,770
Al 185,265
02 ARSI 2E AT S(FIAANS, XLETHE) 224,035 192,527 31,508
OJtgA5EsHl X2 142,200
S 14,220
Al 127,980
OE2ld0ts Y&ty X 81,835
= 24,550
Al 57,285
d20tsEsHl XA 48,000 36,000 12,000
= 33,600
= 4,800
Al 9,600
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2A:

M 25 - 0ts XN&E
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,000
301 LEtE NS 20,000 17,500 2,500
[ 16,000
= 2,000
Al 2,000
01 Al EE A S (2 RDEXMA) 20,000 17,500 2,500
OOtSESHERIUMEIA2S] 20,000
[ 16,000
= 2,000
Al 2,000
StHuloiots &l 29 517,400 495,788 21,612
= 206,958
= 155,220
Al 185,222
307 elztol & 517,400 495,788 21,612
= 206,958
< 185,220
Al 185,222
10 Al SXAEEHE2EHI 22X 452,208 432,494 19,714
OsttiulhotsdE =gl 26,340
= 10,536
== 7,902
Al 7,902
Ostiiulcotsd & el 2| 425,868
= 170,346
== 127,760
Al 127,762
11 AMEISXIAEEES 65,192 63,294 1,898
OstHUIcHOtSEE At 65,192
= 26,076
== 19,558
Al 19,558
Ot=sstth 2 21,520 25,720 A4,200
201 er23| 1,720 13,720 22,000
01 At2tltl 8,000 10,000 /2,000
OltsEs HRF 8,000
02 S3=gl 3,720 3,720 0
OXtg= Al 1,200
O=UaE3s || 2,400
O2zdzt FAIH| 120
202 04l 4,800 6,000 21,200
01 2LHoIH 4,800 6,000 1,200
OOt XAt S 4,800




2A:

X XH -
o=

=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 5,000 6,000 21,000
02 A2 EH 2GS (FHAAHS, XNLWE) 5,000 6,000 21,000
Ogad =l & ac|B A 5,000
OlSSith OIZAL 20,000 20,000 0
307 gl2to| & 20,000 20,000
1 AMISXAIEEXS 20,000 20,000
OOrSsith M2 ArE 20,000
Gt0l, OFOIKIE A 10,000 0 10,000
< 3,000
Al 7,000
307 elztol & 10,000 0 10,000
S 3,000
Al 7,000
11 AMEISXAEEES 10,000 0 10,000
O3dt0l,0L0IXIE AFS 10,000
= 3,000
Al 7,000
AS0tSHE 249H] XA 832,404 833,256 A852
[ 416,202
= 208,101
Al 208,101
301 LEtE N = 832,404 833,256 A\BB2
[ 416,202
== 208,101
Al 208,101
01 ARIE2EHSFS(RRNEERTHE) 832,404 833,256 A\BB2
OXEotsHE =gl K& 832,404
= 416,202
[ 208,101
Al 208,101
KS0tsHE 2lAH| XI& 5,382,216 4,604,700 777,516
= 2,691,108
[ 1,345,554
Al 1,345,554
301 2eEN=S 5,382,216 4,604,700 777,516
s 2,691,108
s 1,345,554
Al 1,345,554
01 Al EE AL S(FRDEXHA) 5,382,216 4,604,700 777,516
OXl=otsHIE e124d] XI& 5,382,216
[ 2,691,108
= 1,345,554
Al 1,345,554




£A: OtsZ 3t

Hu: 9% 0ls X
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
XS0otsHE Ots=4 X 3,163,500 2,624,000 539,500
= 790,875
Al 2,372,625
301 EtE N = 3,163,500 2,624,000 539,500
= 790,875
Al 2,312,625
02 A EEHS(FIANE, XLTHE) 3,163,500 2,624,000 539,500
OXlgotsHE OtsaA A& 3,163,500
s 790,875
Al 2,372,625
KSOtSHE SAIL BEE 62,800 47,200 15,600
S 12,560
Al 50,240
301 LEtE NS 62,800 47,200 15,600
= 12,560
Al 50,240
03 A2 E A0S (XILTHH) 62,800 47,200 15,600
OXNSOtSHE SAHA &4 62,800
S 12,560
Al 50,240
KS0otsHE SAHA S8E 251,640 197,640 54,000
[ 50,328
Al 201,312
301 LELEN S 251,640 197,640 54,000
== 50,328
Al 201,312
03 AR 2EHFS(XILMHE) 251,640 197,640 54,000
OXNS0tSHE SAHA SE4¢ 251,640
= 50,328
Al 201,312
NEotsHE 238 =t 27,600 27,600 0
== 8,280
Al 19,320
301 22N 27,600 27,600 0
[ 8,280
Al 19,320
02 MBI 2EHSFHS(HAANS, XLHE) 27,600 27,600 0
OXISotsHle 2]l FIHAIA (<) 27,600
= 8,280
Al 19,320
KSOotsHIE SAHAL 2124H] =0+ XI& 539,167 374,012 165,155
= 161,750
Al 377,417




SN OFSFED
M 25 - 0ts XN&E
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 539,167 374,012 165,155
= 161,750
Al 377,417
02 ARSI 2 XSG (FHAAHS, NLWE) 539,167 374,012 165,155
OXISO0tSHIE! SAEL 21A4H| FIHXIE 539, 167
= 161,750
Al 377,417
N 0tsdEe T2 | FIHAI&E 479,100 472,546 6,554
< 144,000
Al 335,100
301 LELEE S 479,100 472,546 6,554
& 144,000
Al 335,100
02 A2 EH 2GS (FHAAHS, W) 479,100 472,546 6,554
OXY0tsHH T2 08|l =X 479,100
= 144,000
Al 335,100
AEotsHE 23X 941,332 885,787 55,545
201 fer= 3| 2,480 3,100 A620
01 At 2|l 2,480 3,100 AB20
OXG0tsHE HRFA 2,480
202 04| 2,480 3,100 AB20
01 =LHO LI 2,480 3,100 A620
OXSiotSHE £&0i] 2,480
301 EtE NS 902,702 846,077 56,625
02 A2 A LGS (FHAAHS, NWE) 902,702 846,077 56,625
OXY0tsHH X2l 82,800
OXI0tSHIE Ot =H| 54,000
SAZCIAF 1] K& 577,502
OXNS0ISHE SAHL X2 188,400
307 elztol & 33,670 33,510 160
1 AMEISXAEEXS 33,670 33,510 160
OXSotSHE FAHAEE 5,880
OXS0otsHE 0i2l0l StitS=A 14,000
OXE0ISHE SAHL 28 l2stZ2 8 6.310
OXISOtSHE SHAEE 7,480
S48 X0tsSHE FIHIS 12,000 14,400 2,400
= 6,000
< 3,000
Al 3,000
301 2eEN= 12,000 14,400 A2,400
= 6,000




25 0t N&
L OIE=XAE UR Y RES0E 2554 1)
SA - BH - () - HSAE - B ofl v A 2
= 3,000
Al 3,000
01 Al B& X Z2(2REETA) 12,000 14,400 A2,400
OAIRIAEY XF0tsHEH IR 8,400
= 4,200
= 2,100
Al 2,100
OER2Y XootsdH =IHAIA 3,600
= 1,800
= 900
Al 900
XE0ts4E Ots=SX WA AKX 310,000 296,000 14,000
= 155,000
= 77,500
Al 77,500
101 @124 310,000 296,000 14,000
s 155,000
& 77,500
Al 77,500
M IIRHZ2Z2XSE+ 310,000 296,000 14,000
OX0tSHEH OtsS=SXIWAHOIZHA) THA
X 310,000
s 155,000
& 77,500
Al 77,500
CEAEE M XA 782,288 767,113 15,175
s 500,389
& 62,549
Al 219,350
XS ESAERE SgAtdi2el X& 725,488 705,213 20,275
s 500,389
& 62,549
Al 162,550
101 el t| 373,248 366,993 6,255
s 218,597
= 27,325
Al 127,326
03 SR (RIAHY) 22 E> 347,441 366,993 A 19,552
OO0tSSEAteIZ2IAL 2IABI(20, 818
=, Al2tel) 242,641
s 194,113
= 24,264
Al 24,264




K
I-I il—l :
Ct2|:

A&
AN X

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

OOLS SEHARIIZIA £ (ZIFRHAITHR!)
2

tE #IHBI0IN 2S48

04 JIZtNZ22 XS24+
OO0t SEAtell 22l AL 12|

OO0tSSEAtal2tel At 0Bl

SRR

=

= 04

SRR

=

100,000
4,800
3,840

480
480
25,807
24,457
19,564
2,446
2,447
1,350
1,080
135
135

25,807

SRRE]]

=

61,550
49,240
6,155
6,155

58,550

3,000

01 AtR2telb]

OCEAEE Z20# 29 2 92 =7

Mo

=

Mo

=

SRR

=

32,000
32,000
25,600
3,200
3,200
5,000
5,000
4,000
500
500
24,550
24,550
19,640
2,455
2,455

32,000

5,000

21,550

3,000

202 O]

Mo

=

19,800
15,840
1,980
1,980

19,800

NETEE
OSEAEE X2 DS

[und

He
M
0z
2
=

Mo

19,800
19,800
15,840
1,980
1,980

19,800

206 =4I

9,000

13,000

24,000




2A:
X XH -
o e

=aak

ts A&
tE A XI&

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

SAREY

=

7,200
900
900

01 XH=4l

OEYAERE 220 23MsE 7Y

SRR

=

9,000
9,000
7,200
900
900

13,000

24,000

SRR

=

31,450
25,160
3,145
3,145

26,950

4,500

01 AISIEAXAGS(2DEXZE)

OEEAEE X208 29

11 SEAAHIXIRES

OEEHARE 220

A0
02

14 JIEt2 a3

OCEEHARE T2 2 ZAsE

SRR

=

SRR

=

SRR

=

7,700
7,700
6,160
770
770
500
500
400

50

50
23,250
23,250
18,600
2,325
2,325

7,700

1,000

18,250

A500

5,000

SRR

40,000
32,000
4,000
4,000

35,000

5,000

SRR

=

40,000

40,000
32,000
4,000
4,000

35,000

5,000

307 212+01™

SRR

190,440
152,352
19,044
19,044

184,920

5,520

11 AR S XA E X

OCEHAERE 2208 23

H0

190,440
190,440

184,920

5,520




25 0ls X
CHAEE AIY XI& e &)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
= 162,352
=S 19,044
19,044
Ols=X S8 A4 X 45,800 50,400 4,600
201 fer=3| 43,400 43,400 0
01 At22t2ltl 32,400 32,400 0
OEEAEE ARA Xtz 32,400
2 35234l 11,000 11,000 0
OLEAEE 3323l 11,000
202 04dl 2,400 3,000 2600
01 =LHOHI 2,400 3,000 A600
OLEAEHE R M 2,400
OLOIZAJtH 29 X 2el 11,000 11,500 A500
201 er= 3| 8,000 8,500 A500
01 At22t2l] 4,000 4,500 A500
OO0t A & O2loldHtd A2 2
g 3 4,000
2 5234l 4,000 4,000 0
OO0t AIMH SS2gH| 4,000
405 KHoHFSHI 3,000 3,000
01 ML ESFSHI 3,000 3,000
OOROIEAIMH & Ol EdHtd EA2 2
g=E 7Y (BHE S) 3,000
29 ZHI(0ts &2t 541,020 573,420 A32,400
= 203,405
& 101,703
Al 235,912
olE2gdl(orsE &) 511,810 543,240 231,430
= 203,405
== 101,703
Al 206,702
QIR HAH|(OISEXI WAL 2RA) I24H| X2 511,810 543,240 A31,430
s 203,406
= 101,703
Al 206,702
101 21AH| 473,000 496,240 N23,240
[ 184,000
= 92,000
Al 197,000
03 BRA(RIH )22 U2+ 473,000 496,240 A23,240
OXS0tSHE OtSS A WAL LHAXIE 368,000
[ 184,000
= 92,000
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HgotEEAE
od =X 38
FHBS (crel &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHAE 31,644,823 33,597,824 21,953,001
= 7,065,687
[ 583,417
Jl 6,669,708
< 4,005,823
Al 13,320,188
o =X 58 9,533,932 9,420,907 113,025
= 242,700
s 542,716
Il 4,806,202
= 1,463,168
Al 2,479,146
dHES 6,956,013 6,929,425 26,588
= 242,700
Jl 4,187,158
s 848,113
Al 1,678,042
AEEERD TUEAE 32,960 43,800 210,840
7l 26,368
= 3,296
Al 3,2%
301 EetE2 NS 32,960 43,800 210,840
Il 26,368
= 3,296
Al 3.29%6
01 Al EE AT Z(2DEXR) 32,960 43,800 10,840
OFAEsRR e 32,960
) 26,368
& 3,2%
Al 3,296
SRS NHESH S XI& 5,160,000 5,085,450 74,550
) 4,128,000
& 516,000
Al 516,000
301 EtE NS 5,160,000 5,085,450 74,550
Jl 4,128,000
< 516,000
Al 516,000
01 AR 2EHSHS(RDNEXRTH) 5,160,000 5,085,450 74,550
OStRRIIETHASH S(0ls2=H], 58
SHI MEEXZS) 5,160,000
Il 4,128,000
== 516,000




SN OEIIERAED
Ha: old =X S

o9 2dES (Erol &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 516,000
NAas st220t8 X 623,000 553,300 69,700
T 186,900
Al 436,100
301 LetEHZ 623,000 553,300 69,700
= 186,900
Al 436,100
P2 A BEHHZ(HAHS, NYHA) 623,000 553,300 69,700
OMAS SIRE2IIE MEXE XA 623,000
& 186,900
Al 436,100
SHRRIIESXAIE XI& 639,895 639,8% 0
T 100,087
Al 539,808
301 LB F 23,200 23,200 0
= 3,960
Al 19,240
2 A BEHHZ(HAAHS, NYHA) 23,200 23,200 0
OBXN=XAIE EIAX REEEZ 20,000
T 3,000
Al 17,000
OBX=XAIE A 2EH| 3,200
& 960
Al 2,240
307 2I2+0l™ 616,695 616,695 0
= 9%, 127
Al 520,568
10 AlSISXAIEHE2ZHIEX 592,545 592,545 0
ORX=XAIE 29| 592,545
& 88,882
Al 503,663
11 Al =SXAMEES 24,150 24,150 0
OBX=XNAE SAR=E 14,400
T 4,320
Al 10,080
ORX=EXAIE JIBRI| s IIEBEXA 9,750
= 2,925
Al 6,825
SR Z2AIE OLOISSAHIA X2 36,443 21,330 15,113
| 25,510
= 7,653
Al 3,280
307 2I2+01A 36,443 21,330 15,113




2A:

X XH -
o=

CHol: MBS (=CR-E))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 25,510
=S 7,653
Al 3,280
11 ARRIS XA E X 36,443 21,330 15,113
OstRE2AI4 OloISSAMHIA I 36,443
Jl 25,510
= 7,653
Al 3,280
SIREAIE YAX &Y XIESXE 14,560 15,000 N4
Jl 7,280
= 5,09
Al 2,184
307 gl2to| & 14,560 15,000 A440
Jl 7,280
= 5,096
Al 2,184
11 AMEISXAIEEXS 14,560 15,000 AN440
OStR2AI4 g4N AEXE X 14,560
) 7,280
< 5,09%
Al 2,184
HAZS0 263,000 241,000 22,000
= 236,700
< 18,410
Al 7,890
301 EtE NS 263,000 241,000 22,000
= 236,700
== 18,410
Al 7,890
01 ARSI 2E AL S(SREXMH) 263,000 241,000 22,000
OUE=EXAE +=2A HHS0 83,000
= 79,200
=S 6,160
Al 2,640
ORT=XNAE =5k HAS0 175,000
= 157,500
= 12,250
Al 5,250
dHES H JEIEEIL 5,860 10,400 A4,540
< 560
Al 5,300
201 er23 | 1,860 3,000 A1,140
= 560




2A:

Mu: o =X =
ool eemE CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,300
01 AtR2t2|HI 1,860 3,000 A1,140
OYddEsS & 28388t s =M S 1,860
s 560
Al 1,300
202 04| 3,000 6,400 A3,400
01 SLHoIH 3,000 6,400 A3,400
OYddEs & Hgds g4 3,000
203 HE=H] 1,000 1,000
03 A= PR FAI| 1,000 1,000
ONEIIEAIHE RN 1,000
QY Al et 2% 29,370 54,240 N\24,870
s 5.211
Al 24,159
201 et 3| 12,000 34,000 /22,000
01 At2t2l] 12,000 34,000 22,000
Onddeles THED| Melt) # 10,950
OnddeleE THED| E2HIS 1,050
301 EtE N = 17,370 17,240 130
= 5,211
Al 12,159
03 A2 H A0S (XILTHH) 17,370 17,240 130
O ENE X3 17,370
=S 5.211
Al 12,159
ssud X 62,500 162,500 100,000
308 XtXIEMSO0IE 62,500 162,500 100,000
08 wW=J| 202X 62,500 162,500 100,000
OME(2=) ssud X 62,500
o Ne |4 76,425 81,510 A5,085
= 2,500
Al 73,925
201 er23y| 8,800 11,000 2,200
01 AtR2t2|HI 8,800 11,000 A2,200
ONgds g 8,800
202 04| 5,000 6,400 1,400
01 =LHOLI 5,000 6,400 A1,400
O0EXE |4 € SR2I0tE XA g2F
& 5,000
301 LEtE NS 4,905 5,450 Ab45
11 dAMEEIXIE S 4,905 5,450 Ab545
O&= Hdglial &4 675
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2A:

E M

el Hdus & HEFSANAANE 2E (SH9 H2)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
ONdXa 2= 3,200
301 EtE N = 55,000 60,000 /5,000
14 JIEt 2 a3 55,000 60,000 /5,000
OWdAtaItist 2At=& 55,000
307 212+01™ 29,000 29,000
05 git?(& = 29,000 29,000
O g Ataltist EASHH| 29,000
405 KHakE SH 22,899 7,200 15,699
01 AL =S F = 22,899 7,200 15,699
OsidAzItis 28 25+ 22,899
eI HE =2 365,000 365,000 0
= 255,500
Al 109,500
307 el2to| & 365,000 365,000 0
S 255,500
Al 109,500
11 AMISXAIEEX 365,000 365,000 0
Ooogelziauy 23X 365,000
== 255,500
Al 109,500
JEHENY FHEAH 54,040 65,040 211,000
= 16,328
Al 37,712
307 elztol & 49,040 65,040 216,000
= 13,828
Al 35,212
1 AMISXAEEXS 49,040 50,040 A1,000
O gHelA Metis 4,000
=S 2,000
Al 2,000
OJIgH UERD A=A 4,000
< 2,000
Al 2,000
OMLHE SAHR XM<HA 24,840
= 4,968
Al 19,872
OF L SA S 2SHIXZ 16,200
== 4,860
Al 11,340
402 QIF X201 & 5,000 0 5,000
= 2,500
Al 2,500




2A:

X XH -
o=

CHel: OHDE U GNFANRME 29 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QIZEXHE AL E (01X THE) 5,000 0 5,000
O dal=bed sFHEA 5,000
= 2,500
Al 2,500
MEHEH X823 760,072 664,706 95,366
[ 542,716
= 108,678
Al 108,678
307 el2to| & 760,072 664,706 95,366
= 542,716
< 108,678
Al 108,678
11 AMEISXAEEES 760,072 664,706 95,366
OZEHENE ML 257,600
= 206,080
< 25,760
Al 25,760
OZHHENE NP usEat| 170,800
= 170,800
OMHE 28X 331,672
= 165,836
=S 82,918
Al 82,918
d=8 U6l 25 & A 1,170,108 1,174,536 N4,428
Jl 619,044
=S 234,549
Al 316,515
JHEEE 484 2N 342,248 356,899 14,651
Jl 154,878
= 87,187
Al 100,183
307 gl2to| & 342,248 356,899 14,651
Jl 154,878
= 87,187
Al 100, 183
11 MEISXAEEXS 342,248 356,899 14,651
OJtE=Z3 a4 24| 2,248
) 154,878
< 87,187
Al 100, 183
JHEZE Lokt ESAE 2EXA 291,088 275,378 15,710
Jl 195,906
< 45,348




A HEINSEL

= 0t
2 d =X 88

[E
&

ol E=E ok 25 & XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 49,834
307 gl2tol & 291,088 267,878 23,210
Il 195,906
= 45,348
Al 49,834
11 AMEISXAIEEXS 291,088 267,878 23,210
OIS = 1cHA EsAl4 2] 258,340
) 172,982
& 40,436
Al 44,922
OJtEZHTIcHA SSAIAE HI=2XE AL 11,800
) 8,260
< 1,770
Al 1,770
OJtE == UIoHAt g Eet| 948
Jl 664
< 142
Al 142
OIIE ==k ElAAl MHEXES 20,000
Jl 14,000
< 3,000
Al 3,000
JHEEE Lokt Xs2s =2 25,064 14,971 10,093
2 o|=H| XA
) 17,543
& 3,761
Al 3,760
307 lztol & 25,064 14,971 10,093
Jl 17,543
< 3,761
Al 3,760
11 AMEISXAEEES 25,064 14,971 10,093
OJIE =Tk 2l 24| 5,574
Jl 3,900
=S 837
Al 837
OJFEZ4Id A x128= 19,490
Jl 13,643
=S 2,924
Al 2,923
d=8 dg4 2EXNE 181,759 174,638 7,121
Jl 74,943
=S 47,034




2A:
X XH -
o e

=aak

O IIEHAE D
s =X =T
Ol8Z Ik 25 ¥ X

=

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2

Al 59,782

307 212+01™ 181,759 174,638 7,121
| 74,943
& 47,034
Al 59,782

11 AL =SXAMEES 181,759 174,638 7,121
O&d=54gA 29| 181,759
J| 74,943
= 47,034
Al 59,782

S=ZLI0HA ESAIE 29X& 219,683 221,113 A1,430
J| 153,930
= 32,492
Al 33,261

307 2I2+01A 219,683 221,113 A1,430
| 153,930
T 32,492
Al 33,261

11 AR SXAMEE X 219,683 221,113 21,430
Od="Iloi A BESAE 29| 214,683
| 148,930
T 32,492
Al 33,261
Od="IloH A ESAIE BI=Z2 Xt MAH| 5,000
| 5,000

Sg== OloHA 2= H]. 28| XI& 19,940 18,440 1,500
| 13,958
& 2,991
Al 2,991

307 212+01™ 19,940 18,440 1,500
| 13,958
& 2,991
Al 2,991

11 AL SXAMEES 19,940 18,440 1,500
Od=4 TloiAt 22 ¥ 2tEd] X 19,940
J| 13,958
= 2,991
Al 2,991

S=Z06HA X 2,358 Z2)8 29 11,266 11,266 0
J| 7,886
= 1,690
Al 1,690

307 2I2+01A 11,266 11,266 0




A HEINSEL

= 0t
2 d =X 88

[E
&

ool Ol4ER IEN 25 U X (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 7,886
=S 1,690
Al 1,690
11 ARRIS XA E X 11,266 11,266 0
Od=gUoiit Xg2= 11,266
Jl 7,886
= 1,690
Al 1,690
M= 2EAd 2R 45,560 48,880 A3,320
== 13,668
Al 31,892
307 212+01& 45,560 48,880 A3,320
< 13,668
Al 31,892
11 AMEISXAEEES 45,560 48,880 A3,320
OWE=XAIE SAHA =& 36,360
= 10,908
Al 25,452
O0EZHIoi At XJEHAIE SEFOH] 9,200
=S 2,760
Al 6,440
= A 7,200 7,760 560
301 2eEN=S 960 1,200 A240
14 JIEt2 8= 960 1,200 A240
O4lH=8 SEUBUS B 960
307 elzto| & 6.240 6.560 A320
11 AMEISXAEEXS 6,240 6,560 A320
OZ&tgato a4 Z3HAl 6,240
HygetaXgdati=g 1,260 1,260 0
s 378
Al 882
307 @I2t01 & 1,260 1,260 0
[ 378
Al 882
11 AMEISXAEEES 1,260 1,260 0
Oy rEASAU2S 1,260
S 378
Al 882
HE=g XA 1,040 1,300 A260
201 eer23y| 1,040 1,300 A260
01 AtR2t2|HI 1,040 1,300 A260
Ond=5gX?d=2g =& 1,040




A HEIEEAED

M ol =X =&

ol E=E ok 25 & XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEZHGHA &Ex JISELHOIES) 24,000 0 24,000

401 AIZHIZ SO 24,000 0 24,000
01 Al&HI 24,000 0 24,000
Od=4 JIEEs od4 W2+ 24,000
AESA 2tel 786,247 702,832 83,415
= 40,701
= 58,441
Al 687,106
A& S At2tel 786,247 702,832 83,415
[ 40,701
= 58,441
Al 687,105
KRS AL 2te| 102,500 54,300 48,200
201 eer23| 12,000 15,000 /3,000
01 AtR2t2|HI 12,000 15,000 23,000
OXESA 2= 12,000
202 04| 2,500 4,300 1,800
01 =LHOLI 2,500 4,300 21,800
OXESA 2=H 2,500
206 MH=H| 24,000 30,000 26,000
01 MHZH| 24,000 30,000 26,000
OMAS SHAIU eraXa 24,000
301 EtE N = 4,000 5,000 A1,000
4Bt 2 a3 4,000 5,000 1,000
ONHeEd S AHESAHL 25 X3 4,000
401 AlZHIZ SO 60,000 0 60,000
01 A28l 60,000 0 60,000
OT AR SAHIE AlE JHA 60,000
N SAHIEH X 569,945 559,021 10,924
& 15,000
Al 554,945
307 glztol & 569,945 569,021 10,924
= 15,000
Al 554,945
11 MEISXAEE 569,945 559,021 10,924
OXHESAHIE 23] 50,000
= 15,000
Al 35,000
OXESAHE 22H] L AFSHI(FOFAHAI
W) 519,945
KNASAHE SZIHESAHRSLEEH) 25,000 0 25,000
= 25,000




A HEIEEAED
S THESAE 2l
ol X SA2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 25,000 0 25,000
= 25,000
01 AlZ8| 25,000 0 25,000
OXESAHHIE! SBIHESA 25,000
< 25,000
d= S ANESAMEE It AMHlA X 14,692 15,489 NT97
[ 7,346
= 2,939
Al 4,407
307 elzto| & 14,692 15,489 vaviers
= 7,346
& 2,939
Al 4,407
11 AMEISXAEEXS 14,692 15,489 NTI7
O&= S& NASMES It MEIA X 14,692
= 7,346
[ 2,939
Al 4,407
AESAH 2CIUI0IE K& - 4 66,910 66,322 588
= 33,355
< 13,342
Al 20,213
307 lztol & 66,910 66,322 588
= 33,356
=S 13,342
Al 20,213
11 ARRIS XA E X 66,910 66,322 588
OXHES A ZOUI0IH K& s4 66,710
[ 33,355
= 13,342
Al 20,013
OXEEAL ZCIUIOIE K& SA(FIOFAHA
TH&) 200
s|2ZUts JIESAE 29 2,700 2,700 0
= 810
Al 1,890
307 elztol & 2,700 2,700 0
= 810
Al 1,890
1 AMISXAIEEXS 2,700 2,700 0
OslYlUts IHESAH 28 2,700
=S 810
Al 1,890




SA OISR AN
S THESAE 2l
=Rl RESARE EER=E)
SA - ZE - B2(30) - HRA - B of v G o HIDE2
APl XEE WsSAHE 29 4,500 5,000 2500
= 1,350
Al 3,180
307 el2to| & 4,500 5,000 A500
= 1,350
Al 3,150
1 AMISXAIEEXS 4,500 5,000 A500
OH0Pte X=E MssSAMH 289 4,500
s 1,350
Al 3,150
s - U238 =X 38 6,884,007 11,067,644 A\4,183,637
= 1,690,000
Jl 871,606
=S 519,604
Al 3,802,798
22018 € U2Ed X 6,884,007 11,067,644 A\4,183,637
= 1,690,000
Il 871,605
< 519,604
Al 3,802,798
22018 & U=3 d3NA 12,424 14,280 A1,8%
201 er23| 3,840 4,800 A960
01 At2tltl 3,840 4,800 2960
OIEL=SEH g2 A 3,840
202 04t 3,584 4,480 A8%6
01 =LHOHI 3,584 4,480 A8
OJNEUESEY P2 =M 3,584
307 @I2t01 & 5,000 5,000
11 ARRIS XA E X 5,000 5,000
Ot=23tE M2 A 5,000
Ct2sttE X2 A 294,773 282,906 11,867
== 88,432
Al 206,341
301 EtE NS 44,640 0 44,640
= 13,392
Al 31,248
03 A2 E A0S (XILTHH) 44,640 0 44,640
OJIBHH SAA =X 44,640
= 13,392
Al 31,248
307 212+01& 250,133 282,906 N32,773
[ 75,040




2A:

GlA ISR AED
g I - U238 =4 88
el 2201 & UEsE® X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 175,093
11 AMEISXAEEXS 250,133 282,906 A32,773
OU2IEXAME SAEL Q1AH] & ==
E 58,733
== 17,620
Al 41,113
OZ =012kt THEXE SEA 23,000
= 6,900
Al 16,100
O22¥ Ui=8td 28 130,000
= 39,000
Al 91,000
Ot=23tE dettksol X 29,400
< 8,820
Al 20,580
OZE0I2A & =HFSHIE NI 9,000
= 2,700
Al 6,300
ZE012N SR 20,000 20,000 0
Il 10,000
= 3,000
Al 7,000
307 elzto| & 20,000 20,000 0
Jl 10,000
= 3,000
Al 7,000
11 AMEISXAEEE 20,000 20,000 0
OZE0I12At HB A 20,000
Jl 10,000
[ 3,000
Al 7,000
AMHgs & MHEE S g2usAHlA T2 144,300 130,962 13,338
Jl 66,750
& 20,025
Al 57,525
307 elztol & 144,300 130,962 13,338
Jl 66,750
s 20,025
Al 57,525
11 AMRISXAEEES 144,300 130,962 13,338
OXtHe=s & THHM4E S d2USAHHIA
A& 133,500
Jl 66,750




2A:
PSR
ool

SA - ZE - B2(30) - HRAS of v G o HIDE2

< 20,025
Al 46,725
OYZuSA=AMN X=X 10,800

ZE02UNSHSE AMEIA X2 108,330 102,300 6,030
Il 54,165
= 16,250
Al 37,915

307 elztol & 108,330 102,300 6,030
) 54,165
< 16,250
Al 37,915

11 AMEISXAEEE 108,330 102,300 6,030
OZe 012XNSHS MHIA X3 108,330
Jl 54,165
== 16,250
Al 37,915

CtEstE THd A0 X2 166,960 121,770 45,190
Jl 83,480
== 25,044
Al 58,436

307 212+01& 166,960 121,770 45,190
J| 83,480
S 25,044
Al 58,436

11 AMISXAIEEX 166,960 121,770 45,190
OU=ZstE e HO0EEXSA 166,960
Jl 83,480
= 25,044
Al 58,436

0150l WEX& 91,880 73,110 18,770
Jl 45,940
= 13,782
Al 32,158

307 gl2to| & 91,880 73,110 18,770
) 45,940
= 13,782
Al 32,158

1 AMEISXAEEXS 91,880 73,110 18,770
OIS0l =X 91,880
Il 45,940
< 13,782
Al 32,158

JIBHE2E 1,222,540 1,215,816 6,724




2A:

GlA ISR AED
g I - U238 =4 88
el 2201 & UEsE® X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 611,270
=S 183,381
Al 427,889
307 @I2to| & 1,222,540 1,215,816 6,724
Jl 611,270
= 183,381
Al 427,889
1 AMISXAIEEXS 1,222,540 1,215,816 6,724
OJIBHH2 S (SALL 2124H], HE2HF
HI, Arddl) 1,222,540
Il 611,270
= 183,381
Al 427,889
JIEHH 2 (RHA) 205,000 205,000
307 @120l & 105,000 105,000
05 glt?(& = 105,000 105,000
OJIEdH Al =X, 22 105,000
405 KHakE SH 100,000 100,000
01 AL =S F=H 100,000 100,000
OJtEde dI1& F 100,000
JIEHE A8 200,000 3,495,000 23,295,000
401 AlEHIZ 2018 200,000 3,495,000 A3,295,000
01 Al&H| 200,000 3,495,000 A3,295,000
O AHAl JHEHIE 2HE 200,000
Rotd olEd ALY 2,258,000 2,559,000 /301,000
= 1,690,000
= 162,000
Al 406,000
301 LEtE N = 2,258,000 2,559,000 A301,000
= 1,690,000
& 162,000
Al 406,000
01 AR HSFS(RRNEERTHE) 2,258,000 2,559,000 /301,000
OHetd 012 At 2,258,000
= 1,690,000
[ 162,000
Al 406,000
S0 Y =AY 2,152,500 2,152,500 0
= 5,500
Al 2,147,000
301 LEtE N = 2,152,500 2,152,500 0
= 5,500
Al 2,147,000




SA OISR AN
g I - U238 =4 88
el 2201 & UEsE® X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 AR 2EHFS(XILH) 2,152,500 2,152,500 0
OMMOL 0l& s0t=E A& 27,500
= 5,500
Al 22,000
OsdES A= 2,125,000
28t Xy RLRus XE 7,300 0 7,300
& 2,190
Al 5,110
307 lztol & 7,300 0 7,300
== 2,190
Al 5,110
11 AMEISXAEEES 7,300 0 7,300
Oddet JHExd FRuF A2 7,300
= 2,190
Al 5,110
s - =3 N2 8,282,092 7,912,252 369,840
= 4,995,987
Il 58,244
= 897,717
Al 2,330,144
otolIEs A& 8,282,092 7,912,252 369,840
= 4,995,987
Jl 58,244
=S 897,717
Al 2,330,144
OloI=S XA 7,137,124 6,765,808 371,316
= 4,995,987
= 856,455
Al 1,284,682
307 gl2to| & 7,137,124 6,765,808 371,316
= 4,995,987
= 856,455
Al 1,284,682
1 AMEISXAIEEES 7,137,124 6,765,808 371,316
OO0I0I =S XIS ALE 7,137,124
= 4,995,987
< 856,455
Al 1,284,682
O0IEs =2RE= X2 AY 904,400 950,000 45,600
201 er2 3| 4,400 5,500 AT1,100
01 AtR2telHl 4,400 5,500 1,100
Od=d =8 S 2G| 4,400
301 EetE NS 900,000 944,500 A\44,500




2A:

E M

Ol IIEE A
ols - 22 N

cel: ololEs X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 900,000 944,500 A\44,500
O0tolE==AtIA 2REs AIE 900,000
OLOIEL20l MM 66,240 75,240 29,000
= 1,512
Al 64,728
301 2N = 61,200 61,200
03 A2 E A4S (XL THH) 61,200 61,200
OOtoI==0l gsXiatl X& 61,200
307 212+01& 5,040 75,240 A70,200
= 1,512
Al 3,528
11 AMEISXAEEE 5,040 75,240 A70,200
OO0tOI==20| AZzd8dl XI& 5,040
= 1,512
Al 3,528
SSS0LIsH 29 119,488 116,424 3,064
Il 58,244
= 23,298
Al 37,946
307 elztol & 119,488 116,424 3,064
) 58,244
< 23,298
Al 37,946
11 AMEISXAEEE 119,488 116,424 3,064
OZ3ss0Li=sH 22 116,488
Jl 58,244
S 23,298
Al 34,946
OZ2s=0LsH HEHSSEA0] X 3,000
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ool HEGID ADIES UDIEE X4 (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 6,031
Al 14,073
ololgs32t 2 18,320 13,900 4,420
201 er2 3| 18,000 13,500 4,500
01 AtR2te|Hl 18,000 13,500 4,500
O0el0lgsE BAle=2 18,000
202 04| 320 400 A80
01 2K 320 400 A80
Ooogolzss2 88 S 320
A2 ARE YRIAIE X XA 144,000 297,000 153,000
= 80,000
=S 16,000
Al 48,000
402 2I2FXH=201& 144,000 297,000 153,000
= 80,000
= 16,000
Al 48,000
03 2IZ+RAETAISHI 144,000 0 144,000
OanZ AIEE 2XAE X XA 144,000
= 80,000
= 16,000
Al 48,000
A2 ASE SXAL EX1 XSG J=NES 8,000 8,000
201 fet=23y| 8,000 8,000
01 AtR2te|HI 8,000 8,000
Oar2 AHHE HXAIE ZX XA DI
ENE 8,000
HASEI(GP) MBEXI XIZAHS 94,500 0 94,500
= 52,500
s 12,600
Al 29,400
402 2I2FXH=201H 94,500 0 94,500
= 52,500
= 12,600
Al 29,400
02 QI XHE AL E R (01X THE) 94,500 0 94,500
OIASEI(GP) NZEXI XEA 94,500
= 52,500
= 12,600
Al 29,400
OOl & SstE28 ZAANAE 25 105,240 108,760 A3,520
201 ger=3| 59,540 70,260 10,720
01 AtR2te|H] 29,880 33,600 A3,720
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FA S H
FH: PIeg 22
Chel: BREID ADIES (DI XA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 2,000
C2E 0IMSX M2 K& A 5,250 0 5,250
== 5,250
401 AIEHIX S0 5,250 0 5,250
= 5,250
01 Al&H| 5,250 0 5,250
OE2F8 0IMEIX M& X2 Ard 5,250
S 5,250
SAFNT DHEM S AAE 38,400 56,640 A18,240
[ 11,520
Al 26,880
307 glztol & 38,400 56,640 A18,240
S 11,520
Al 26,880
02 2B YA HE X 38,400 56,640 18,240
OAFH N DId=H S K& 38,400
= 11,520
Al 26,880
o ZPLIHEY & M 29 65,000 67,000 A2,000
101 21AH| 48,000 48,000 0
04 JIZtN2 2N S 2+ 48,000 48,000 0
AFHDLIHY S 28 48,000
201 2egh=3| 9,000 9,000
02 S5=24g4l 9,000 9,000
OAFHZLIHE SHE 29 9,000
206 MH=Hl 8,000 10,000 22,000
01 MZH| 8,000 10,000 /2,000
OSAFHMZHM & 8,000
A2 ZHE L FEERIIGEE NZAE XA 40,000 40,000 0
s 8,000
Al 32,000
402 2I2FXH=201H 40,000 40,000 0
[ 8,000
Al 32,000
02 QI T2 AL EE (01X THE) 40,000 40,000 0
OL2NEa 2IEERIIBE=E N2ALE
K2 40,000
= 8,000
Al 32,000
HIINST SHAE =A2c 12,000 33,000 £21,000
201 fet= 3| 12,000 33,000 /21,000
01 AtR2t2|HI 12,000 33,000 A21,000
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FH: PIeg 22
ool HEGID ADIES UDIEE X4 (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| OmIIxt BEAM |X 8% S 12,000
FAHA 200 K& 1,900,000 1,900,000
= 1,300,000
& 300,000
Al 300,000
402 QI”F X201 & 1,900,000 1,900,000
= 1,300,000
< 300,000
Al 300,000
02 QI XH2AILEE (01X THE) 1,900,000 1,900,000
O=AHA 20 X (212H) 1,900,000
= 1,300,000
=S 300,000
Al 300,000
AHEX] SENTA INMESHE XA 280,000 280,000
= 140,000
Al 140,000
405 AHaHE = 280,000 280,000
= 140,000
Al 140,000
01 ML ESFSHI 280,000 280,000
OJtAsE ZXHA £X 280,000
= 140,000
Al 140,000
Kot EIIXt SRS STHAEAIL ZX XZ A 22,500 22,500
[ 9,000
Al 13,500
402 BIZtAH=01A 22,500 22,500
= 9,000
Al 13,500
02 QIZEXHE AL E (01X THE) 22,500 22,500
O3 tEAlIE &I 22,500
= 9,000
Al 13,500
Kok IR SHAE X&0IA X K3 AH 303,600 303,600
== 91,080
Al 212,520
402 2I2EX=201H 303,600 303,600
[ 91,080
Al 212,520
02 QI X2 AL EE (01X THE) 303,600 303,600
OX&old™ 4x 303,600
= 91,080




SN BAEHY
FH: PIeg 22
ool HEGID ADIES UDIEE X4 (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1] Al 212,520
a2 370,040 387,800 17,760
92 20| S2& ot US| 370,040 387,800 A17,760
SHE HHEAL 2c] 57,520 68,400 10,880
201 er23| 50,000 59,000 29,000
01 At2teltl 36,000 45,000 /9,000
OHLE=E 2FT HA =8 S 36,000
02 S3=gHl 14,000 14,000 0
OHEALAMSY BEXNE R S 14,000
202 04| 3,520 4,400 /880
01 =LHOLI 3,520 4,400 A880
OHIEAIE MBS N=ESH 1,520
O120 deold S 2SS sde= 2,000
206 MH=Hl 4,000 5,000 A1,000
01 MZH| 4,000 5,000 21,000
OLE=a NaMH 8J 78 & 4,000
AHHEAl SSH=XCIAIE 2l 156,200 129,500 26,700
202 04| 1,200 1,500 A300
01 2K 1,200 1,500 A300
OSTOIEH SSsH+MelAld S8E
5 1,200
307 21201 & 35,000 33,000 2,000
05 21t =2 35,000 33,000 2,000
OSTZAMAL] SSHXCAE +2F
2B 3,000
401 AIEHIX R0 120,000 95,000 25,000
01 AlZH| 120,000 95,000 25,000
OSTAIEE SSHXClAE JHE S
A & 120,000
E2R 2l 2,400 23,000 /20,600
202 04| 2,400 3,000 2600
01 =LHO LI 2,400 3,000 A600
OJt=2E N8 & 2AlsS s8e= 2,400
+=HH 2| 17,920 19,900 1,980
201 Ler23| 12,320 12,900 A580
01 At2teltl 12,320 12,900 A580
O+=Z228AL] HII= X 5,000
Ootd & 34 24 =22 5,000
H=FI| WE & = 1,360
ONIA 229 & A HR=X 960
202 04l 1,600 2,000 2400
01 =LHAHI 1,600 2,000 A400
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Chol: gte 20| 2= 51& 2+s)| (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=&gAMD EUsS 1,600
206 M=l 4,000 5,000 21,000
01 MZH| 4,000 5,000 1,000
O=&2g glgs 423 S 7 4,000
HESMZAIE |2 136,000 147,000 211,000
201 fer=3| 56,000 57,000 1,000
01 At 22|l 4,000 45,000 241,000
CHIBENTAE a2l S 4,000
2 S5=24g4l 52,000 12,000 40,000
OHIE2EMZAE &L= 12,000
OHIEQENZAIE T2 S 40,000
207 ARl 20,000 20,000
01 =S| 20,000 20,000
OHIBSAIE BIZd A 9 20,000
401 Al HIZ R 0HbI 60,000 90,000 30,000
01 Al&HI 60,000 90,000 230,000
ONE=d € HII=Xe S 60,000
eItk XHA0l S&Eot=E NEIHsE Atel 78 1,301,694 1,680,664 A384,970
= 324,700
= 168,180
Al 808,814
ANASZEH L 2t 516,332 863,520 A347,188
= 75,000
[ 80,000
Al 361,332
Fefot e Y (HEAIY) 44,000 69,000 125,000
S 17,500
Al 26,500
101 @124H| 33,000 32,000 1,000
= 12,000
Al 21,000
04 JIZtNZ22 NS+ 33,000 32,000 1,000
OF ot dej2Z X sl JI12HH 22
A 2= 24,000
s 12,000
Al 12,000
O ot dej 23X K2 JI2HH 22
X Ea=(FMTH) 9,000
201 Ler23| 5,800 11,800 26,000
= 2,900
Al 2,900
01 AtR2t2|HI 5,800 5,800 0
OZE= HM& € a2 =8 S 2,800
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2N e

I CL'jjJ_lP A0l S&Eots AHIHsE Atel 73
ool MIBFRAE U 22 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 15,000
=S 4,500
Al 10,500
OAH&E8 NEE2TOH U & 10,000
= 5,000
= 1,500
Al 3,500
03 A2 I 34,000 23,880 10,120
OXSG A 2224 e e =8 S 30,000
= 15,000
= 4,500
Al 10,500
OXZESHNEAN SSLSE ?let WF 4,000
= 2,000
= 600
Al 1,400
206 M=l 16,000 0 16,000
= 8,000
S 2,400
Al 5,600
01 M=4l 16,000 0 16,000
O0opte NEud X278 =5 +Y 16,000
= 8,000
= 2,400
Al 5,600
301 EtE NS 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
14 JIEt 2 a3 40,000 0 40,000
OO0t XNZEuwd A 234l X2 38,400
= 19,200
= 5,760
Al 13,440
OXEZSHo&A afol 28= 1,600
= 800
= 240
Al 560
405 KHaHF S| 5,000 4,200 800
= 2,500
S 750
Al 1,750
01 It =S F = 5,000 4,200 800




FA S
= Qb X0l B&ESkE NHItsst Atel 728
ool MIBFRAE U 22 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNESH &8I 13 HE 7Y 5,000
= 2,500
== 750
Al 1,750
=OHNESE g2 I 2= 133,400 133,400 0
= 40,000
Al 93,400
401 AIZHIZ SO 133,400 133,400 0
= 40,000
Al 93,400
01 AlZH| 133,400 133,400 0
o205 K253 8Y gdat & Ald= &
A== 133,400
== 40,000
Al 93,400
OiSAE B3 & THME RX 737,860 763,614 NP5, 754
= 249,700
== 88,180
Al 399,980
e A et HE EIXIA 80,000 80,000 0
= 40,000
S 24,000
Al 16,000
101 21AH| 65,000 68,500 A3,500
= 32,500
= 19,500
Al 13,000
04 JIZtNZ22 NS+ 65,000 68,500 A3,500
OHMEH netdE EX 65,000
= 32,500
= 19,500
Al 13,000
201 eer23y| 15,000 11,500 3,500
= 7,500
= 4,500
Al 3,000
01 At2teltl 15,000 11,500 3,500
OZE= M& € a2 UM 28 S 15,000
= 7,500
< 4,500
Al 3,000
OriSAE 23 150,400 180,724 N324
= 700




S BT

I CL'jjJ_lP A0l S&Eots AHIHsE Atel 73
Tl OIMEAIZ 25 U ToIME| 8X (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 149,700
101 @1A4H| 74,400 112,524 N38,124
04 JIZtN2Z2 XS 2+ 74,400 112,524 A38,124
ORZ MAIX 22| 55,000
ORol OrdsE 2el 9,000
OZMTCcHAl OIZ 2 HAM == 10,400
201 Zet=d] 2,200 2,200
02 S3=4gl 2,200 2,200
O0rdSAlE B3 2 2EXE KA 2,200
202 O4H| 800 1,000 A200
01 2L AL 800 1,000 A200
OrlisSAE 2SN 88 88 S 800
206 M=l 8,000 10,000 A2,000
01 M= H| 8,000 10,000 22,000
O0tdsAlg B85 2288 s 7 8,000
301 LEtE NS 25,000 25,000 0
= 700
Al 24,300
14 JIEt 2 a3 25,000 25,000 0
O0tds==Z 2t s&E LEd= 7,000
= 700
Al 6,300
Otrds=2 28t sH= L2433 (Fot
KHIHE) 18,000
401 AlZHIZL RO 40,000 0 40,000
01 Al&H| 40,000 0 40,000
Oz MAIX A HIAH 40,000
FollOfSSE HoiEXE 2 98,760 121,840 /23,080
= 6,100
= 1,830
Al 90,830
201 Ler23| 49,600 50,400 A800
= 6,100
[ 1,830
Al 41,670
01 At2t2lt] 40,000 40,000 0
OFHOIESE AISMFH 2 AMAl 015, M
cltl 12,200
= 6,100
< 1,830
Al 4,270
OFMHOIESE AISMFE 2 AMAl 015, M
2l (FIRAIHE) 27,800




S BT

I E'jjﬂ A0l S&Eots AHIHsE Atel 73
e OrMESAE 25 L NHME |RX (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 9,600 10,400 2800
OFMHOIESE LcHS X ~EHia HYL
g ot 9,600
206 MH=H| 8,000 0 8,000
01 M=4l 8,000 0 8,000
ORFoOtEsS= Lot =23 K& S 8,000
301 22N = 41,160 51,440 10,280
14 JIEt2 8= 41,160 51,440 210,280
OFloIdSE Z224= 40,000
OFolOIESE LN EAXS &S|
A& 1,160
OrHS= 1IoHOIl 2 AL 7,200 10,000 /2,800
= 3,600
= 1,200
Al 2,400
402 2IF X201 & 7,200 10,000 22,800
= 3,600
[ 1,200
Al 2,400
02 QI T2 AL EE (01X THE) 7,200 10,000 22,800
O0tds= LlaltgAlE EX K& 7,200
= 3,600
== 1,200
Al 2,400
MEHH A HIA XIS HIH ALY 400,000 400,000 0
= 200,000
== 60,000
Al 140,000
201 =3 4,000 4,000 0
= 2,000
= 600
Al 1,400
01 AtR2t2lHl 4,000 4,000 0
OdEHAMBIAXIZHAS S22 ME S 1,500
= 750
= 225
Al 525
OdEAMBIAXIZ A FAE2 3 2F
= 2,500
= 1,250
= 375
Al 875
202 04| 2,000 2,000 0
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I E'jj]i A0l S&Eots AHIHsE Atel 73
Tl OIMEAIZ 25 U ToIME| 8X (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,000
=S 300
Al 700
01 2K 2,000 2,000 0
OUEHAMHIAXISHAISE Ol SX B
S 2,000
= 1,000
= 300
Al 700
301 22N = 394,000 394,000 0
= 197,000
= 59,100
Al 137,900
14 0Bt 2a3 394,000 394,000 0
OdEHEANEBIAXIZSHASS Ol 2at= 394,000
= 197,000
= 59,100
Al 137,900
Sl OrME2 JITIH XA 1,500 1,050 450
== 450
Al 1,050
307 212+01™ 1,500 1,080 450
< 450
Al 1,050
02 LB HAHE L 1,500 1,050 450
ORliotsSE JILIM 2 HIE K& 1,500
= 450
Al 1,050
Lol Hel #E= St 24l ol Z 47,502 59,530 ~12,028
g2 S 19,080 41,480 N22,400
201 er=23y| 1,680 2,100 A420
01 AtR2t2lHl 1,680 2,100 A420
OstZad do?dsl MHa AdE 1,680
202 04| 2,300 2,880 A580
01 =LHOLI 2,300 2,880 A580
Oz4g, &7& 2o S SZLlo XA
INE=RS 2,300
301 EtE N = 900 1,000 A100
11 HAIMHIXIZ S 900 1,000 A100
OXg2s d=AH0IL &4 900
307 @20l & 14,200 13,500 700
02 QIHEHAIEE X 9,200 8,500 700
OXNAESAW ZAAIE | At 4,900
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ciol: MADIgls RS MEH Xa (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=gt 72,888,349 69,294,817 3,593,532
= 270,200
[ 950,000
Jl 1,800
< 59,636
Al 71,606,713
P=EASELel 68,353,269 64,172,289 4,180,980
= 270,200
s 950,000
Il 1,800
= 59,636
Al 67,071,633
Mplgle RS degetd &y 33,668,747 31,532,163 2,136,584
= 270,200
S 38,600
Al 33,359,947
M ] =), 2t 31,677,227 29,613,583 2,063,644
101 @124H| 217,000 387,000 A170,000
MU OIRINZZENSES 217,000 387,000 A170,000
OdEHIIZ A2 JIZHZZ2X 22 217,000
201 er=2 3| 483,000 483,000
02 S3=gHl 483,000 483,000
OF e A=H| 361,000
OFAXE 2|l ¥ A2F 7 S(22A
Etolol S) 120,000
OdgMgd] 2IAXel Sall 8,000
OFAXE MASUS(NHSIUHA, A2
s) 4,000
206 M=l 6,400 8,000 1,600
01 M= HI 6,400 8,000 A1,600
OFAazed WE 7(4, OHH, HI, &0l S) 6,400
307 glztol & 30,810,827 28,685,583 2,125,244
05 2ItRIE =2 30,810,827 28,685,583 2,125,244
OS2 RHLMD(ZEEZ) AtIHel T 50,000
QdaMY I =, 28, II=2F4A 30,760,827
405 AtatE = 160,000 0 160,000
01 IR ESFSHI 160,000 0 160,000
OdgHll=Z +=Hs F4XE UH 7L 160,000
MEMD] =, 2EHASF0IEHE 29 22l) 95,480 0 95,480
201 2= 95,480 0 95,480
01 AtR2t2lt] 90,800 0 90,800
OAg 2Z0lsa L=l & 288 2 56,000
OZ2A(RIIAAA) 22X S 20,000




A =2t
= ®Ape
SRl ADIgle BHE detetd Xd EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXMgllI=td SHHISHA SEuS & &
HOHNE A W= 10,000
OMgllzH SAHANE H MR BE=ES
=] 4,800
02 s3=gHl 2,400 0 2,400
OXgilztd 228 9E 2 2,400
04 SN A 2,280 0 2,280
Ozt HYES 2,280
MYDISE (220t =&) M 22 937,080 838,080 99,000
201 er2 3| 7,000 8,000 21,000
02 S3=gl 7,000 8,000 A1,000
OXgPISE 27 JMANAE FXE+ 7,000
206 M=H| 930,080 830,080 100,000
01 M=8l 930,080 830,080 100,000
O2S0tCH (ppOFCH) 1= 160,000
OMIISEN S5 M 700,000
OR4SSE MDISE ME 18,000
OUEHIIZ AEIH MA 38,440
Os&&8 MIISE M= 13,640
otMat= MeJ] FotAte 386,000 386,000 0
= 270,200
= 38,600
Al 77,200
101 21AH| 341,000 341,000 0
= 238,700
= 34,100
Al 68,200
04 JIZtNZ22 NS+ 341,000 341,000 0
Odtdat= Ae0] detArg el2ib| 341,000
= 238,700
= 34,100
Al 68,200
201 er23y| 45,000 45,000 0
= 31,500
= 4,500
Al 9,000
01 At2teltl 45,000 45,000 0
Odtdst= X¢0] oAt 45,000
= 31,500
< 4,500
Al 9,000
YRWII= Xel 86,000 90,000 24,000
201 er2&| 16,000 20,000 24,000




A =2t
T HABD
Eelr MgDigls Ne MEEd X4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 16,000 20,000 24,000
OgxlHIIZ XMeles 7 16,000
401 AlEHIZ S 0HBI 70,000 70,000
01 AlZH| 70,000 70,000
O2XIHIIZ Ml 70,000
MeDlgle HEe deed X4 78,760 105,700 N\26,940
201 et 3| 14,160 17,700 A3,540
01 AtR2te|Hl 14,160 17,700 23,540
OMeD| HHE2HH S22 NMA (842 8) 10,400
OAMSES & SMII, EH S 7Y 3,760
202 04l 13,600 17,000 23,400
01 =LHA LI 13,600 17,000 A3,400
OF s &8l & 2SI AEHSE 13,600
203 HR=AH] 1,000 1,000
03 A=A PR FA| 1,000 1,000
Ol =8 ARG 1,000
405 KHaHE SH 50,000 70,000 /20,000
01 Tt ESF=HI 50,000 70,000 220,000
OXelDl f|HSI| &= CCIVEX 50,000
CAXNS HEMY D] = HEHIAY 408,200 458,000 249,800
201 er23| 400,000 400,000 0
01 At2teltl 400,000 400,000 0
OEAXYD| =H & A2l 400,000
308 AHAIEMSOIE 8,200 10,000 /1,800
07 MXISHHIBE = 8,200 10,000 21,800
OEMXIY HDIEMZ2RES 8,200
HOISHEE &4 & 29 22 16,850,431 16,151,847 698,584
HOISHHEE =22 2 951,231 1,426,266 A475,035
201 2= 466,648 631,700 165,052
01 AtR2t2lt] 49,648 38,560 11,088
OHYISHEE 2g g2d 18,400
OFEgdE 225 7¢ 1,248
OUEdEEST S T ZAH 14,000
80| =2ZFA 12,000
— Al =2 ZA 2,000
OHJISHEE ZIIBA 16,000
—100,000MI =011 Ol4t 500,000M&=01E 012 16,000
02 S3=gHl 417,000 593,140 176,140
Oxtzr o SHH| A7 (BN ) 17,000
Oxtg & &4l "=l 90,000
Ollgd & dEAE 3832= & 72 310,000
202 044 4,500 8,500 24,000




A =2t
HEH: EHADD
Sl HIIZOHRER X4 2 29 22 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 =LH LI 4,500 8,500 /4,000
OISR BE+ S 2FAMN U 5
LESE XA 2F 2,500
OANEZSZUEE At=2el0l THE A8 8
= 2,000
206 M=H| 24,000 30,000 26,000
01 M=8l 24,000 30,000 26,000
OHJISHEE &IINHMHFL 8,000
OHVISHEE 22 MM & Mz 16,000
301 EtE NS 78,000 80,000 22,000
14 IIEt2d3 78,000 80,000 A2,000
OHVISHE S F2UZAE g5¢ 78,000
308 AHAIEMSOIE 270,000 313,790 A43,790
07 MXISHHIBE = 270,000 313,790 A43,790
odgHll= MNEFEs 270,000
401 Al HIZL R 0HbI 89,000 45,000 44,000
01 Al&HI 89,000 45,000 44,000
OHJI=SHEE H&+ & Kot &8 2
dSA 25,000
OHVISHEE =882 FAE+ SIS 44,000
OHJI=S0EE &I 23 A 20,000
402 2I2F X201 & 17,583 17,276 307
03 2I2+LAEAIZHI 17,583 17,276 307
OHPISUEE &II2dIAlE ord 2| THeY
Bl 17,583
405 AHaHE S 1,500 300,000 298,500
01 AL =S F = 1,500 300,000 298,500
OHVISHEH 22l dety)] 2 1,500
HXHANUXISAIE RIS A AS=2Y 15,546,000 14,477,514 1,068,486
101 @124H| 135,000 0 135,000
04 JIZtNZ22 NS+ 135,000 0 135,000
OHHENUHXISAlIE 22X JI2EHZ22
UNJREIE = 135,000
201 =3 170,000 270,514 100,514
2 S22l 170,000 270,514 A100,514
O=2HEAANE S 22l 25,000
O24atatiEa 2 135,000
OAaml ANEES 2 FX2t 10,000
307 @I2t01 & 14,461,000 13,186,000 1,275,000
05 212+ = 14,461,000 13,186,000 1,275,000
OHXEUUEXIBAIE 2IZHETIAIE ?IE=2
S 14,461,000
308 XtXIEMSO0IE 780,000 907,000 127,000




SN RHREE
Zal: AR

Pl HOIS0EY 4 2 29 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
07 AX R FE= 780,000 907,000 127,000
OHIHZNUHXIZAIE HYIEXME FE= 780,000
HEHDIZ |18 X 100,000 0 100,000
307 el2to| & 100,000 0 100,000
05 212+ =S 100,000 0 100,000
OUgHII= fI8XclEs 100,000
HEHDIE IMIAE 22 253,200 248,067 5,133
101 ©1AH| 250,000 220,067 29,933
M ORNZZ2NSE S 250,000 220,067 29,933
OUEmII=Z &2 & MIMAIE 22 JI2HAl
22Xk 250,000
206 M=l 3,200 4,000 A800
01 MZH| 3,200 4,000 A800
OLsHAIE =g 2 M=l 3,200
Ade=g elxet 25 15,926,891 14,687,159 1,239,732
Jl 1,800
= 21,036
Al 15,904,055
SHESAEE ?I8 XM 3,638,000 3,252,100 385,900
307 elztol & 3,638,000 3,252,100 385,900
05 212t =S 3,638,000 3,252,100 385,900
OSAE2FHIIZ AKXl 3,560,000
OHJIZXNEFE= 78,000
SMEFHIIZ =&, 28| 11,536,020 10,667,129 868,891
206 M=l 38,820 73,020 A34,200
01 M= H| 38,820 73,020 A34,200
OSAEFHI = BHESII7Y 15,700
OSAsRHIIZ ERE 78 23,120
307 elzto| & 11,497,200 10,594,109 903,001
05 212t =S 11,497,200 10,594,109 903,091
OSASFHIIZ =&, 2tHl 11,497,200
HeEsS 2cliiE 90,140 95,740 A5,600
201 et 3| 22,640 27,640 /5,000
01 AtR2tc|Hl 20,000 25,000 25,000
OMEES 2+ & S4= SEHM 8=
= 5,600
OHgZS = 28 == NI 10,400
OFZHEY =cltiE & cIERH, LAH,
EPEA0 S 4,000
® 2=2H| 2,640 2,640 0
OI0T Jlet E0/T 22149 A 2% 2 8
Xl2el 2,640
202 04l 2,400 3,000 2600
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A =2t
B HABR
Chel: & ol=Zet 25 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 1,800
=S 900
Al 6,300
SEHsS = 24 5,439 0 5,439
< 1,632
Al 3,807
301 EtE NS 5,439 0 5,439
= 1,632
Al 3,807
14 J|EIE &S 5,439 0 5,439
OHs%8) +=HEd= & XMl A 5,439
= 1,632
Al 3,807
SAUSSENIIEREAE 235,000 235,000 0
201 et 3| 235,000 235,000
02 S3=gHl 235,000 235,000
OSAISEEIIIIRFID) sS4l 41,000
OSASZEIDIRFID) w2l & A28 7Y
S 194,000
s +=AH & HE XMl NFAS 16,000 24,000 28,000
= 4,800
Al 11,200
307 @120l & 16,000 24,000 /8,000
s 4,800
Al 11,200
05 2IR”IRIE = 16,000 24,000 28,000
OEsHIN =H & HE Xl XA 16,000
[ 4,800
Al 11,200
HeE=E =82 S8R X 40,680 41,049 2369
= 1,704
Al 38,976
201 er23y| 40,680 41,049 A\369
= 1,704
Al 38,976
01 AtR2te|H] 40,680 41,049 A369
OoNgEs =8 AXEI X 5,680
== 1,704
Al 3,976
Oass 8ol X ZSHFEIINHHH) 35,000
HEHDIZ HE HHEAE EX XA 30,000 30,000 0
= 6,000
Al 24,000




A =2t
Hu: mApe
ol AEeg elXel 5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 30,000 30,000 0
= 6,000
Al 24,000
01 Al&H| 30,000 30,000 0
OdgHII= HE HHEAE £ X3 AE 30,000
= 6,000
Al 24,000
&gt Jelatd XA 20,000 32,063 12,063
206 M=l 20,000 32,063 12,063
01 MHZHI 20,000 32,063 A12,063
OQIHIEIE XIZS28 7L (SEMSE 50L) 20,000
SeloteA Az R0 223,312 199,130 24,182
101 @124H| 213,712 187,130 26,582
M ORINZZE2NSE S 213,712 187,130 26,582
OSegotRA dAgte| &0 elAd] 210,912
Oul=H| 2,800
206 M=l 9,600 12,000 2,400
01 M=8l 9,600 12,000 A2,400
O2¢eloteA 34 & 2eRE SHMSF
- 9,600
SYHDIZ 222 S8 HRE TAgd =4 1,907,200 1,801,120 106,080
= 950,000
Al 957,200
=dlOIE MelXZ 1,900,000 1,792,120 107,880
= 950,000
Al 950,000
402 2IZtA=01d 1,900,000 1,792,120 107,880
[ 950,000
Al 950,000
03 2I2+LAEAISHI 1,900,000 1,792,120 107,880
O=dIOIE XMl XA 1,900,000
[ 950,000
Al 950,000
HYIS HHEAMSE 2 7,200 9,000 21,800
201 er23 | 4,000 5,000 21,000
01 At2teltl 4,000 5,000 1,000
OHolE NEMF 24H € =5+ 4,000
202 04dl 3,200 4,000 2800
01 2L AL 3,200 4,000 A800
CHJIZ tHE & MeIMSE 22Z= 3,200
HY2AGH(XF =) 3,555,080 4,157,200 602,120
IR 2HH(XHH=&t) 3,518,000 4,003,000 A\485,000
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CHE . O(BIH) - HIRAY - BAS A e
34,669, 1% 52,585,860 217,916,664
= 1,846,670
= 450,000
& 1,943,497
Al 30,429,029
A XHAS 34,642,016 52,558,900 A17,916,884
= 1,846,670
Fay 450,000
== 1,943,497
Al 30,401,849
g2 893,518 625,228 268,290
= 358,243
= 156,281
Al 378,9%
HAEJI T 645,314 478,791 166,523
= 322,657
T 9%,797
Al 225,860
L2CHY| 645,314 478,791 166,523
= 322,657
& 9%,797
Al 225,860
631,082 474,291 156,791
OXIDESES (B XAAEIIIRI]) 527,010
= 263,505
& 79,051
Al 184,454
= RS =) = N 104,072
= 52,036
& 15,611
Al 36,425
12,232 4,000 8,232
OXNYEsEd 12,232
= 6,116
& 1,835
Al 4,281
03 Al&20HHI 2,000 500 1,500
SEIE 2,000
= 1,000
& 300
700
JHETH 25,159 0 25,159
= 13,668




2A:

X XH -
o=

=aak ng’.ﬁa (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 3,447
Al 8,044

401 Al HIZL 01| 25,159 0 25,159
= 13,668
== 3,447
Al 8,044

01 Al&H| 25,159 0 25,159
OZHexd 25,159
= 13,668
=S 3,447
Al 8,044

ZUHRXE 147,525 60,347 87,178
= 1,478
=S 40,653
Al 105,3%4

401 Al HIZ R 0HbI 147,525 60,347 87,178
= 1,478
= 40,653
Al 105,394

01 AlZH| 139,525 57,847 81,678
OZURXE 139,525
= 1,398
= 38,453
Al 99,674

02 Zcltl 7,000 2,000 5,000
O2UFx8 7,000
= 70
= 1,925
Al 5,005

03 AIZ S THYI 1,000 500 500
O2U*Fx8 1,000
= 10
= 275
Al 715

A SMACT] T (AH) 41,200 51,500 10,300
= 16,480
= 12,360
Al 12,360

402 2I2F X201 & 41,200 51,500 210,300
= 16,480
< 12,360
Al 12,360

02 QI X2 AL EE(OIHTHE) 41,200 51,500 10,300
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2A:

X XH -
o=

=aak &glﬂjal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

O=IHI| KA T ALE o122 24,800
= 12,400
== 3,720
Al 8,680

201 er23| 10,097 15,268 A5,171
= 5,048
== 1,514
Al 3,535

01 At22t2lt] 10,097 15,268 A5,171
=IHDIHEE 2572 S 9,597
= 4,798
=S 1,439
Al 3,360
O IINEEANY E57Y S 500
= 250
=S 75
Al 175

301 2= 1,500 2,672 VAN I 1/
= 1,500

11 #AIAMHIXIZ S 1,500 2,672 VAN I 1/
O FIINES W=l 1,000
= 1,000
ORI AN WS 500
= 500

R S ) 813,600 939,443 125,843
= 406,800
== 122,040
Al 284,760

401 Al HIZL S 0HYI 813,600 939,443 A125,843
= 406,800
=S 122,040
Al 284,760

01 AlZ28| 751,600 877,443 A125,843
OO0 &Lt 175,926
= 87,963
= 26,389
Al 61,574
O&t=0lg =111 210,308
= 105, 154
= 31,546
Al 73,608
OXEXIHII(EHDI, S=2HH) 333,786
= 166,893
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X XH -
o=

=aak &glﬂjal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 50,068
Al 116,825
OZ2LIRIH] 12,384
= 6,192
< 1,858
Al 4,334
Ott2+8 19,196
= 9,598
< 2,879
Al 6.719

02 Zeltl 60,000 60,000 0
OZMZIRIIALS 60,000
= 30,000
< 9,000
Al 21,000

03 Al 2CHYI 2,000 2,000 0
OB M IRIIALS 2,000
= 1,000
== 300
Al 700

SAETHSH Xt EDI(AES X 20L& StTH) 798,817 786,310 12,507
= 319,527
[ 143,787
Al 335,503

101 @124H| 775,309 762,802 12,507
= 310,124
== 139,555
Al 325,630

M ORNZZ2NSE S 775,309 762,802 12,507
Ottsdzugasl fY 775,309
= 310,124
= 139,555
Al 325,630

201 2= 23,508 23,508 0
= 9,403
= 4,232
Al 9,873

01 AtR2te|H] 19,200 19,200 0
OU=HEESIE S| 19,200
= 7,680
= 3,456
Al 8,064

02 S3=gHl 4,308 4,308 0
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3,300

3,300

3,300

Ofl &F2H

4,308

1,723

i

776
1,809
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4,914
11,700
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4,914
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4,914
3,660

i

iy

Al

i

W

Al

fir

A

Al

1,464

fir
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1,537
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1,464

fir
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1,464

fir
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fir
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3,300
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fir
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01 At22t2ltl
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2A:

X XH -
o=

o &glﬂjal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 3,200

201 et 3| 1,000 1,000 0
= 710
&< 0
Al 200

01 AtR2t2|HI 1,000 1,000 0

Odgd Holls gH =378, LMt

ZMNE S 1,000
= 710
& 0
Al 200

202 04| 1,000 1,000 0
= 710
S 0
Al 200

01 =LHOHI 1,000 1,000 0
OME =Y oAb & OIZ 1,000
= 710
= 0
Al 200

206 M=l 20,000 20,000 0
= 14,200
S 1,800
Al 4,000

01 MZH| 20,000 20,000 0
OM&ESE dH SN+ S 20,000
= 14,200
[ 1,800
Al 4,000

401 Al HIZ 2018 605,112 480,686 124,426
= 429,444
[ 52,586
Al 123,082

01 Al&HI 604,612 480, 186 124,426
OALIRHESE LM A 604,612
= 429,089
== 52,541
Al 122,982

03 Al 20HHI 500 500 0
OALIRHESE LM A 500
= 355
== 45
Al 100




2A:

X XH -
o=

ciol: mElp) (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2

BHHAGH S A 141,039 170,928 A29,889
= 80,475
T 14,655
Al 45,909

101 2124d| 60,000 60,000 0
= 34,200
T 6,000
Al 19,800

M IIZIMZ2 2 NS Es 60,000 60,000 0
Odad = Yolls 2H o2 60,000
= 34,200
& 6,000
Al 19,800

201 B2 AY| 3,000 3,000 0
= 1,710
& 300
Al 990

01 A=R2teld| 3,000 3,000 0
Ogdlis LNc & & 227 S 3,000
= 1,710
& 300
Al 990

202 04dl 800 800 0
= 456
= 80
Al 264

01 =LHO4 b 800 800 0
Ogdi= TIcHEAL & Ol& 800
2 456
= 80
Al 264

206 =8l 18,000 18,000 0
= 10,260
= 1,800
Al 5,940

01 =l 18,000 18,000 0
Ogdis &M 2 = 18,000
= 10,260
T 1,800
Al 5,940

401 A& BIZ20HbI 59,239 89,128 A29,889
= 33,849
T 6,475
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X XH -
o=

o &glﬂjal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 18,915
01 AlZ2H| 59,239 89,128 A29,889
OsZEAXNZel LIRFAt 59,239
= 33,849
= 6,475
Al 18,915
HEd SoiS LA 151,600 177,000 A25,400
101 21A4H| 20,000 20,000 0
04 JIZtN2 2N S 2 20,000 20,000 0
Odgd ==3dois gHl U2 20,000
202 04| 1,600 2,000 A400
01 =LHO LI 1,600 2,000 2400
Ogsdl ¢M & 2582 8 8 1,600
401 Al HIZL 201 130,000 150,000 220,000
01 Al&HI 130,000 150,000 220,000
Ogalis LM =t 130,000
25 2l 41,240 41,240 0
=S 6,372
Al 34,868
401 Al HIZ R 0HbI 41,240 41,240 0
== 6.372
Al 34,868
01 Al&HI 41,240 41,240 0
25+ 2l 41,240
= 6,372
Al 34,868
SWHHE SE S (XIXHH) 2,500 2,300 200
= 1,250
= 375
Al 875
202 04l 2,500 2,300 200
= 1,250
== 375
Al 875
01 =LHOLI 2,500 2,300 200
O SE2el 2,500
= 1,250
=S 375
Al 875
RS EX & 018 22,000 22,000
401 Al HIZL S 0HYI 22,000 22,000
01 Al&HI 22,000 22,000
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S A=K
Mu: M2 KRS

ol =Xzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 17,820

04 JIZtN2 2 XS E 50,940 50,052 888
OEAIsAZ2 A FY 25,470
s 16,560
Al 8,910
Odsiz= ROUIOIH 12 25,470
& 16,560
Al 8,910

fesE 4 100,000 0 100,000
= 50,000
< 15,000
Al 35,000

401 Al HIZL 2048 100,000 0 100,000
= 50,000
== 15,000
Al 35,000

01 Al&H| 97,800 0 97,800
OR=23sd =d A 97,800
= 48,900
=S 14,670
Al 34,230

02 2/l 2,000 0 2,000
OR=3sd =4 A 2,000
= 1,000
=S 300
Al 700

03 A& CHYI 200 0 200
OR=3sd =4 A 200
= 100
s 30
Al 70

Oleel = &4 2,854,320 12,679,900 9,825,580
= 450,000
=S 535,000
Al 1,869,320

CABEEE =4 900,000 10,920,000 10,020,000
[ 450,000
Al 450,000

401 AlEHIZL SO 900,000 10,905,500 10,005,500
= 450,000
Al 450,000

01 Al&H| 884,060 10,755,500 A\9,871,440
OFAltted= &4 884,060




S A=K
LN

&el: Olche = =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 442,030
Al 442,030
02 Zeltl 14,940 150,000 135,060
OkAlbtEd= &4 14,940
= 7,470
Al 7,470
03 AlESTHYI 1,000 0 1,000
OZAlttgd= &4 1,000
[ 500
Al 500
KNXH EAl=, sz, 2+, 8&80Es S 248AM 800,000 0 800,000
(A=) (D EALS)
= 400,000
Al 400,000
401 AIZHIX S0HH 800,000 0 800,000
= 400,000
Al 400,000
01 A28l 786,220 0 786,220
OFAl=E =4 786,220
== 393,110
Al 393,110
02 Zeltl 13,280 0 13,280
OkA= =4 13,280
= 6,640
Al 6.640
03 AIESTHYI 500 0 500
O&Az= =4 500
s 250
Al 250
NXH SAl=, stus, Ji2s, 8S08E S ZgA 150,000 110,000 40,000
FOI24) (HetA)
= 75,000
Al 75,000
401 AlEHIZ 2018 150,000 110,000 40,000
= 75,000
Al 75,000
01 A28l 146,000 106, 100 39,900
Otz =4 146,000
=S 73,000
Al 73,000
02 2/l 3,500 3,500 0
OJz+ =4 3,500
& 1,750
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SH: AT
2 Mg e
=l 0lfe = =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 2,400 3,000 2600
01 2LHoIH 2,400 3,000 2600
Ofle=5 22| & AERA S 2,400
401 Al HIY S CHYI 40,000 40,000
01 A28l 40,000 40,000
Ol#== 04 At 40,000
= A2 206,600 206,600
101 ©1AH| 56,880 56,880
M ORNZZ2NSE S 56,880 56,880
Oz RA2ACIHE AFY 55,880
O&Z= RA2cIE L= 1,000
201 Zet=E] 27,200 27,200
01 At2teltl 3,200 3,200
OFzs RAlael 25 78 S 3,200
02 S3=gHl 24,000 0 24,000
OzZ= U e 18,000
OFz= W & otk 2= 6,000
202 04l 1,920 1,920
01 =LHOHH 1,920 1,920
OFz= RA&c 22 M S 1,920
206 M=l 8,000 8,000
01 M=4l 8,000 8,000
OFz= RA&el Mz 7 8,000
401 Al HIZ R 0HHI 110,000 110,000
01 AlZ8| 110,000 110,000
OFz= W M= &Y 72,000
O#Ezds U +==3HI(2= 88 8) 13,000
O2d= W =S 2l 15,000
OFEz= W AIES 2el 10,000
405 AtaHE = 2,600 2,600
01 T ESFISHI 2,600 2,600
Odgs Fa(2H) 1,400
O0lI=J1 F&(2th) 1,200
CAlE g2l A= 80,000 0 80,000
401 Al HIZL 01| 80,000 80,000
01 Al&HI 80,000 80,000
OkAl= & 242 HE =89 80,000
gdHE CTV £X 520,000 520,000
401 AIEHIX R0 520,000 520,000
01 A28l 520,000 520,000
OFZ= LEE IV €X MY S 520,000
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